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1.  Simplify the following:

. B
(1) )
Solution :-
35
3

. (2x5F
2'.5°

\

== 24—2 i 53-2

= 2.8

= 2.5

= 4.5

= 20 Ans.
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(a+b) (c+d)’

(iii)
( a+b ]( c+d )2
Solution :-
_ (a+b)'(c+d)’ P
al'l

(a+b)(c+d)
= (a+b)*! . (c+d)?
= (a+b).(c+d)  Ans.

2.  Simplify using law of exponent:

Ans.

REAL AND COMPLEX NUMBERS - Exercise 1.4 Pogel2?




MATHEMATICS OTH

(iii)

(iv)

odamjeecooching.blogspot.com

aY ( aY
— x — —
5 5
Solution :-
/ \3 5
= _i x _i amxa" = g™"
\ 5 J 5
B / & \34-5
. 5)
7 \8
= —i Ans.
\ S 7
[ 3x52
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Solution :-
¢ \3 4
= —_——_— K| = —
\ bc / be
S5+4
\ be /
9
/ b 3\
= —— Ans.
\ bc /

(vii)

(viii) mn’t’n*m°t’
Solution :-
=  mn’t'n’mt’

- I'I'Il +5n2+3t 447

= mn’t"  Ans

REAL AND COMPLEX NUMBERS - Exercise 1.4
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a"xa"xa® = a

men+p

Pogel24
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(ix) a’c’bia’cp'a’

Solution :-

— a’cb’a’cb'at

= a@abhde s a"xa"xaP = g™
= a 2+3-b4b2+4 c.'!«\S

a’b’*® Ans.

(x) 10x'y°x%%’
Solution :-

= 10x'yxy

JAIN:

FOR ™

MOREX!
N - ?

31.37222
= =rr’s’sh
5

% 34752422

3
=r'%'t*  Ans.

5
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o () (=)

Solution :-
] \4 l 5 ] 3
B - e G | | s A" xa" xaP = g™
m ) m m
I \ #4543
( m )
I z\12
( m F

. [i]‘z Ans.
3. Simp]iIJiN "ofexponem:
" JFOR
Ty
MOREL!
[ = 5 Ans. ?

(if) { (xy) }s

Solution :-
5
- {0o7)
= { xy }3‘6 & {(ah]m }n :[ab]m" :amnbmn
= { Xy }15
= x¥"®  Ans
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5

FEE 2
(iii) {{—4) }

Solution :-

5
= {(=)} £ @) =a™
= (—4)>s
= (—4)w Ans.

@ {(-3) (=]}

Solution :-

JOIN

( 3)3:3 ( 4)2:3

unw Ans.
MWBE!!!

Solution :-
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o (4]

Solution :-

(am)n = gamxn

] ] Il
pr— — ——
I I r—
O |- O |- i
S N O | =
* g S
[ 25
\—,—I
Tl

vii) {z*)}*

“‘FOR
MORE!!!

(viii) {(mm’m’m"*)*)°

Solution :-

=  {(mm'm’'m'yy

- {[m102¢3t4]2}5

s {[mID]Z }5 i {(am ]n }]l = amxmtp
= miox2xs

= mi% Ans.
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(ix) ~[(~0.1%(-0.1)*(-0.)'P
Solution :-
= -(-0.1)*(-0.1)’(-0.1)")
= AlIA01Y(£01)(f0a)'f
= [(01*0.1) 01

(01"}

(0.1)™
(0.1)*  Ans.

FOR MORE NOTES, MCQS & ONLINE TEST
ADAMIJEECOACHING.BLOGSPOT.COM

JOIN
FOR
MORE!!
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1.  Write the following complex numbers in the form of a+ib for the given ordered pairs.
H 1.2
Solution:
= (1,2) ~ a+ib
= 1+2i Ans.

(2,2)
= 242 Ans.

» <FOR

Solution:

MORE!!
M

Solution:

= (1.1
=  -1+i Ans

(ii)

v (-2,2)
Solution:
= (22 #  a+bi
= -2+2i Ans.
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(vi) (=34
Solution:
- (-3.4) a+ bi
= —3+4 Ans

2.  ldentify real and imaginary parts for the following complex numbers.
() 142i
Solution:
1+2i
Re(z)
Im(z) = 2

> 0IN
-

Solution:
(=5.6)
z) = =5
Im(z) = 6

{iv)), =1 -i
Solution:
-1-i
Re(z)
Im(z)

I
|
—

I
|
—
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F e
I
&lw
—
|
—
I
Vi
S~—

i
Re(z) = *
4
Im(z) = -E
(vi) 2i—-1
Solution:

JAiN
Find the Eglnthe following comple
(i)

wnm )

(i) (4.9
Solution:
z; = (4.9
Z = 49
Z = (4.-9)
Z; = 4,-9 Ans.
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(i) (-1,1)
Solution:
zz = (-1.1)
3 = =L +i
£ = =3

23 = ot Kog Ans.
(iv) 1-i

Zy = 1-i

Zy 1=}

7y = 1+i Ans.

(i) 3i+1
Solution:
Ze = 3i+1
Zg = 3i+1
Zg = -3i+1
Ze = 1-3i Ans.
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4,  Verify that (z) = z, for the following complex numbers.

o (312}

Solution:

F =

§ w B
7 10

- 4 9

Proved

Proved

~i|
Il
~N
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1
i) =-3i
(iii) >
Solution:
Z = }--31
I = i3
2
§ = i3
2
T = 2im
2
¥ = 2%

?J n I“ Proved

(iv) 2 '
-FOR
Z

= 2+3i

MORE}!
x5

% = z Proved
10
v) —2-3 —— i
o )
Solution:

REAL AND COMPLEX NUMBERS - Exercise 1.5
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(vi)

\_2

¥ = -2-3 -2}
\ 9 S
/ 3\
z = -243 —Ei
\ 9)
7 3
¥ = P8 == |i
\ 9)
f hY
T = dag 2
\ 9 /
z = Z Proved
4x + 3iy

5.  Find the values of x and y, when.

()

X+ yi=-5+5i

Solution:

X+yi==5+05i

X = -5

y = 5

xy)= (-55)

X+yi= -5+4+5i Ans.

REAL AND COMPLEX NUMBERS - Exercise 1.5
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(i) x2+iy2=199+%i
Solution:
:|cz+i_vz 1—:’-+%i
x2=% " yz=%

(iii) vy 3 51

MUORE!!!

<
&
[

REAL AND COMPLEX NUMBERS - Exercise 1.5
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(iv)

£73_,67£292i

Solution:

_ _3y_zz
2 ' 2 9

o 6x3,/3 ' ¥ = E!Zx:!Z

odamjeecooching.blogspot.com

REAL AND COMPLEX NUMBERS

2%.J5 -3
_ 1843 _ A fBY
10 : y ==
== i
Y= 3
JWRE NOTEs, M

ADAMJEECOACHING.E

FOR

Exercise 1.5
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1.  Perform the indicated operations of the following complex numbers.

H (B.2)+(93)
Solution:
= (3.2)+0.3) (ab)+(cd)=(a+cb+d)
= (3.2)+(9.3)=(3+9,2+3)

* (FOR:
MOBE!L

#3)) | 3'2 !
f32\ (23\ a
= —= |+ == | =
\23) \32) \
fa2Y (23 ((9+4 +9}
= -_l"'+-l'" = g =TT
ELPME S L6 "6
(g2 (28 (13 13]
= == | = | =] = — Ans.
23 )32 ) g
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(i) (2xy .Syz)ﬂ[ %xy 6y ]

Solution:
1
= (2xy.5yz]-[ Exy.f’y’] ~  (ab)—(cd)=(a-cb
-d)
5 r 1 " 3 f ;
=  (2xy,S5y°)- Exy.ﬁy = | 2xy~-=xy,Sy° -6y
\ J \
f 3\ f
1 4xy —
= (2xy.5y%)- Exy-Gy’ = xyzxy-—y’]
\ J \
( 3\ 4
1 3
= (2xy,Sy%)- Ex}".ﬁyz = -iy-.-yz] Ans.
\ J \ 2

JOIN

(iv) (15,12)-(10,=9)
So

- (10, -9)

MORELL

REAL AND COMPLEX NUMBERS - Exercise 1.b Pagel40
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(48 )(46) i 16-18]
= e Il e = Ul
. 5°18.) | 5710 ) L 30
\ (
s (+8)(28) . [, £
 5'15 )  5°10 \ 30,
' i T i 3 's
= ii - ii = (.‘r.—i ] Ans.
| 5°15 ] | 5’10 | 18
(vi) (1,2)(1,-2)
Solution:
=2 (lu 2} (1. _2) o (aC - hdo ad + bC)
= (1L2)(1,-2) = [(DA)=(2)(=2).,()(=2)+(2)(1)]

jﬂjnn = [1+4,-2+2]
2) = ; s
(vii) (4,Fan

Solution:

MORELL! .

=2 (4,-50G-49"=

2

heE
Solution:

= [!E - J[ 24 = J % (ab)(cd) = (ac - bd, ad+bc)

REAL AND COMPLEX NUMBERS - Exercise 1.6 Poge_l4l




- [(ELEHELBN SRS,

2By 2,
_ )ﬁ_zza'fi+%@g]

[ 9-14 -21-6
L 9+4 " 9+4
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(x) (4,5 +(2,-3)
Solution:

= (4,5)+(2 -3)

(a.b]_[ ac+bd bec-ad J

(cd) | E+d? ' E+d?
. (5 (4)(2+(5)(-3) (5)(2)-(4)(-3)
(2.-3) @7 +(-3¢  (2F+(-3)
i 8-15 10+12
4+9 " 4+9

= = > = Ans.
13 13
Simplify and write your answer in form of a + ib

> JOIN

Solution:

MuEpglgﬂd dividing by its conjgg
MORE!!
8 (1 +i)(1-1) ?

(ﬂ’-(i}2
=1+i
1-12
-1+i
1-(-1)
-1+i
1+1

i
|
5
.

REAL AND COMPLEX NUMBERS - Exercise 1.6 Poge.l43
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(i)

(iii)

REAL AND COMPLEX NUMBERS -

(1+i)
Solution:

(1+i)
[(1+10)?)?
[(1)? + 2(1)(D)+(i)?)?
(1 + 2i + i?)?
(A +2i-AY
(2i)?

4i2

4(-1)

-4

a+ib

-4 + 0i

JOIN

Solution:

]

+i
F +i
! jilE-i-l] -3~ l)[4+i]

6+6-16i-(12+1-1i)
9-(-1)
12-16i-13+i
9+1
-1-15i
10
-1 335
10 16,
1 3

———} Ans.
10 2

Exercise 1.6

odaomjeecooching.blogspot.com

(a+b)? = a? + 2ab + b?
2 o= -1

i?

Il
I
b

Paoge 44




1
(2+3i)(1+i)

Solution:

(iv)

1
(243i)(1+1)

1
2+ 2i+3i+3i’

1
2+5i+3(-1)

1
2-3+5i

1 -1-5i

W —

-1+5i -1-5i

1+5i
145i

_ 5i)
- F 1+5i)

1+5i

MOREN!

—(1-251%)

LII

=(1-25(-1))
1+5i

—1+25)

1+5i

-26

1 IR
- R—EI Ans.

REAL AND COMPLEX NUMBERS - Exercise 1.6
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3. Ilfzi=-4+6iand zz=2%—2i,verifythat 12y ===2i

(i) z,+z,=12,+72,

Solution:
Taking L.H.S
2, +7,
. -
2, +2, = —4+6|+§—2|
-B+12i+5-4i
Z,+7, = @ —_——
2
s -3+8i
1 +%Z3 2

-3-8i
iﬂllﬂ *
FOB 7
z :§—4i

MORE

Zh = —4-6i

Now find z,

— 5

Z = -2
3 2

- 5

Z = —+2i
. 2

Now, adding z, + z,

2,+2, = —4—6i+§+2i

REAL AND COMPLEX NUMBERS - Exercise 1.6 Poge 46
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- -8-12i+5+4i
2
a -3-8i
v
= _E_ﬂ‘i
2 7
o— 3
Z+ 2 = -=—4j
1T % 2
L.H.S = R.H.S Hence Proved.
(i) 2,-7,=2,-2
Solution:
Taking L.H.S
JIIIN o

—2--2i

FOR —e
M 0 n E ' r?lZl"5+4l

+16|
m——13 A1
2 E
13
- = -—-8i
2T 2
Now taking R.H.S
S
Firsu-l\.reﬁndz_l
2, = —4+6i
2z, = —4-6i

REAL AND COMPLEX NUMBERS - Exercise 1.b Poge_l47




MATHEMATICS OTH odamjeecooching.blogspot.com

Now find z,

e 5
-=2
2

7, = .§i+2i

~N
~
Il

Now, subtracting z_, - z—z
— — 5 :
2~ 2, = —4-6i- §+2l
= -4—6i—§-2I
2

-8-12i-5-4i
2

13 16i®

h~%H - 2
EEm

Taking L.H.S
2%,
%2 = (2-51)(2+30)
= 446i-10i-15i° i2==1
= 4-4i-15-1)
= 4-4i+15
=  19-4i
z, 7, = 19+4i

REAL AND COMPLEX NUMBERS - Exercise 1.b Pogel48




MATHEMATICS 9TH odamjeecooching.blogspot.com

Now taking R.H.S
2.
First we find E

z, = 245
Now find z,
2, = 2+3i
Z = 2-3i
Nr.mlu.',z_,zz
2,.2, = (2+50)(2-3i)
= 4-6i+10i-15i it=-1

J 0 I“ 4+4i-15(-1)
4+15+4i

z, 19+4i

LOF 0 B R.H.S He

Solution:
Taking L.H.S

z) - (&)

I

2-5i 2-3i
B 2+3ix2-3; (a+b)(a—b) = a?-b?
- 4-6i-10i +15i° P
(2)*-(3i)°

REAL AND COMPLEX NUMBERS - Exercise 1.b Poge_l49




4-16i+15(-1)
4-9i°
4-15-16i
4-9(-1)
-11-16i
4+9

n
Now taking R.H.S
2-5i

—_——

5 .

zZ, 3i

jil'llll 5i  2+3i
x

2+3i

F_n B6i+10i+1512

(2)* - 3i)*

PR\
& = 13 13
L.HS = RHS

MATHEMATICS 9TH odamjeecoaching.blogspot.com
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MATHEMATICS (SINDH BOARD)
cLass: 9 EXERCISE: 2.6 aees:E..,!’jg 2

Find the value of (&573)(28,7") by usng
bﬁl’iﬂrﬂ!t
&L'elib,’”;. -8573 x 28-7Y

¢ . Cdes:
Taking I .2_573 =28.TY

logx =

l" . loamn = logm+ g™ .

ogx - log 8573 v log 2874 us13uis
- l:.a‘lssz + l-'-l(oaaf 0.9332.

logx 'y 2.874x10
Iﬁ, .31

x - Prdilog 2.3

21
MOREL!

For More Notes, MCQs, Online MCQs Test Please visit < AdomjeeCoaching.Blogspot.com
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MATHEMATICS (SINDH BOARD)
CLAss: 9 EXERCISE: 2.6 w&s:&uﬂ : 2

Gnd +he value of 213.1 by usirg
l.anr:#-mv»: 39-22
Soluhon:

= s

Qicles :
(4 I k. l on W ' ke
'l :’..I’Oa 213.1 ;’G'%" °3"
e | 34.22

For More Notes, MCQs, Online MCQs Test Please visit = AdamjeeCoaching.Blogspot.com
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Subscribe My Channe yo m/c/Adamie win_gChann_eI

MATHE | - INDH B..

cuss|[ 9 CHAP 2 | [ere T 28
(Ex:3: Gakeulote [3.41x37 using logavi Hhwtabk

So|ution - _2.3Y

let = [34Ix37.92 ope
man’ !oa ;quo-ﬂ. Sidles - ; j.-'rréx'f
logx - & ( 341 x37.92)% fheO |
- q 2 3" I Narr
% . & Y
(2.39) 72

gty

For More Notes, MCQs, Online | . _-?e visit = Adaon,, chi: g.Blogspot.com
—m——— . —_— e —— - o ——
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MATHEMATICS (SINDH BOARD)
CLASS: Q EXERCISE: 2.6 e Example : Y4

Find the mumber of dasus in YSs:;
Colukion:
Let 2~ ys
Taking
laa’t--
logn = B 03"' ;
'loa)l.c 2

i »
FOR
MORE!!

For More Notes, MCQs, Online MCQs Test Please visit < AdomjeeCoaching.Blogspot.com
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MATHEMATICS (SINDH BOARD)
cLAss: 9 EXERCISE: 2.6 QUES : 1

Find The valves of the Follm‘i'ns by
USin logbri-lbms t
) 57.8?. x 4.385
0N
,l.el:zs;:: 57.86 x 4.385 L
'hl!-in’ on both Cidles : .
lgx = log 57.86 x u.32
& lo’mn- ""’* lqn

For More Notes, MCQs, Online MCQs Test Please visit = AdamjeeCoaoching.Blogspot.com
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MATHEMATICS (SINDH BOARD)
cLass: 9 EXERCISE: 2.6 Ques: 14

Find the valves of the Polows b’ using
logarithms - J
i) 25.753 x 0534) x 4H90.8
] "‘l'Q Y
-thfo ux=n25.753 x 053yl » yq0.2

l on both Sides:
"8‘! -olsog 25753 x 0.534! » U902

a lo’:m)_ laaun logm - :
nh‘b"* °8° ya0.3

'HOS-I- -I
llloa 0-

MME bf; 3?9;0 ﬁi'

For More Notes, MCQs, Online MCQs Test Please visit = AdomjeeCoaching.Blogspot.com
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MATHEMATICS (SINDH BOARD)
cLass: 9 EXERCISE: 2.6 QUES: 4

Find the values of Jhe fom.m,,, by Using-
laga»i-l»ms :
vii) 25.753
0.534Yl
: .S'olu-li&n-
let x- 25.753

For More Notes, MCQs, Online MCQs Test Please visit = AdamjeeCoaching.Blogspot.com
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MATHEMATICS (SINDH BOARD)
cLass: 9 EXERCISE: 2.6  Ques: 4

Find the valves of the following L, using
lopv"ﬂums :

Gv) 790.6 x 30.32

25.753
Solution -
‘l. = M

f:'-'mss Cades -
m:og 790.6 x 30.32
™m +
A -J:I
.6 + lca ;

For More Notes, MCQs, Online MCQs Test Please visit = AdamjeeCoaching.Blogspot.com
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MATHEMATICS (SINDH BOARD)
CLAss: 9q EXERCISE: 2.6  OQues: 1

Fnd the wolves of the following by
Using logarl"fhms g
v) 2391 x 30.72
: 23.34
&lu'.ibh:

Let 2% - 2391 x 30.72
== _
Ta.u-na log on bott Sides:
€® = loa 2

:d m't. | 2"" o
- = ?.'ahﬂ\ D%
EIR L s T
=

2= 4.8659 l.l'_ﬁ--
MOGERE: Jbs

For More Notes, MCQs, Online MCQs Test Please visit < AdomjeeCoaching.Blogspot.com
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MATHEMATICS (SINDH BOARD)
CLAss: 9 EXERCISE: 2.6 QUES : : |

Find the valves of the Hollowing 53

Using qurr"mu :
(vi) 99.%7

(8.369) x (0.785)
.Sshhom
= _19.8%
£.369 x 0.785
Taking log on botth Sides:

For More Notes, MCQs, Online MCQs Test Please visit = AdamjeeCoaching.Blogspot.com
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MATHEMATICS (SINDH BOARD)
cLass: 9 EXERCISE: 2.6 OQues: 1

Find the walves of the following by vsing
'Orl'l"“'ms :
wi) $[2.709 x 1.239
olution : " ‘
Let x - (2.709)% x (1.239)7?
Taking log on bo#. Sides:
o Ll 1"3 (2.709)%c :; (1.239) 7+
= lo = logm + » '
| m?ug)vs (1-239) /7

For More Notes, MCQs, Online MCQs Test Please visit < AdamjeeCoaching.Blogspot.com
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MATHEMATICS (SINDH BOARD)
CLASS: 9 EXERCISE: 2.6 QUES : 1

wii) (26.62)% x (87.19)°
J69.53

Let x - (26.62)7> x (81.19)°
(69-S3)72
TakKi log en both Sides:
- -
Logx - log (26.62) 72 x (282.1)

(69.53)"2
& mn = l.aam + lofr

l.aam- Lo n
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MATHEMATICS (SINDH BOARD)

CLASS CHAPTER g EXERCISE | 2.4
Q1
viii- (26.62)72 x (87.19)3
Jea.53

1ot T Tac.62) 7 x (8%19)°
Teqss

; h?,_,.... o bt Cides:
;ﬁ::f,' 26 _63)7y3 I" 81-!3)3

(62s3))2
& loa ™m ¥ ,

For More Notes, MCQs, Online MCQs Test Plecse visit - AdomjeeCoaching,Blogspot.com
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MATHEMATICS (SINDH BOARD)

css[ 9 CHAPTER [ 2 EXERCISE | 2.6

81.: [Find LMMLW’ : |
vii- (26.62)% x (87.19)3

Jeg.53
,f.':"' "X - (26.62)"% x (37.19)°

Hﬁk-i‘.nz, Mb%;'\%?ks SR
g == log (26:62)% x(87.19)%
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MATHEMATICS (SINDH BOARD)
CLASS : C, EXERCISE: 2.6 Ques: 1

o e logm$G 225, log . < legm~log
i) ;3308);8+l03 (80-08) 2 log (0.3387)"

mﬂ lﬂ' m

For More Notes, MCQs, Online MCQs Test Please visit = AdamjeeCoaching.Blogspot.com
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MATHEMATICS (SINDH BOARD)
cLass: q EXERCISE: 2.6  Ques: 4

Find the valves of the following
ithrne

vsing

x) (43. 63)5 x E-DS 3
M‘_{S .oyg)"

et e « JTagsi)®

(?wth'uzmle

o B Koy (u3. 3y 62)" x (0.05%)”"%

h;lﬂ?ﬂ g Vg

04

(43.68)°+
Bm" = Nnilo A
= ( * 1

n
=
w

ry G
i

For More Notes, MCQs, Online MCQs Test Please visit < AdomjeeCoaching.Blogspot.com
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MATHEMATICS (SINDH BOARD)
CLASS: 9 EXERCISE: 2.6  QUES: 2

Find fhe numbers of digits in the fllowing

- loam‘- nlogm

of digike is T+1=8
. y2;s 8
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MATHEMATICS (SINDH BOARD)

CLass | q CHAPTER [ 2 EXERCISE 2.6

| = 12 10§ Y
loQ = 7.2.2:'4_

For
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MATHEMATICS (SINDH BOARD)

CLASS 9TH CHAPTER 1 EXERCISE

Q#® |[Ifzy =2-5iand z; = 2 + 3i, verify that :

wv. 3%
Solubiomn:
lefd A= 3 e I
lqu. l-’.’l = m"-qigam
los'x =35 1033 OJ
2.38<

she =
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MATHEMATICS (SINDH BOARD)

CHAPTER 3 EXERCISE

-—

. bnani'ﬁ.'&z
" Ao alglebraic
s o pasa‘h'/‘é

fhe exporert

——— ca.UeJ po(:iwtajw
B po{ r\MC\J

-~ JOIN =
. wmﬁwa

- ﬁ'“fi ﬁ?fd

For More Nates, MCQs, Online MCQs Test Please visit < AdamjeeCoaching.Blogspot.com
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MATHEMATICS (SINDH BOARD)

CLAss: Q EXERCISE: 3,1 ues: Example * 1

Examine whether +he -&llowha, are The
polﬂnon\i.a.l ey mot ?
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MATHEMATICS (SINDH BOARD)
cass: Q EXERCISE: 3. oues: Example 1

For More Notes, MCQs, Online MCQs Test Please visit = AdamjeeCoaching.Blogspot.com
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MATHEMATICS (SINDH BOARD) .
cass:- q - EXERCISE: R | - B-HEG:EmPh + 1

Kedm the Followmng yatioral expression +o
their lowest Hform:

For More Notes, MCQs, Online MCQs Test Please visit < AdomjeeCoaching.Blogspot.com
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MATHEMATICS (SINDH BOARD) ‘
CLASS : q EXERCISE: 3. QUES: Example # |

S'lmpliﬁ’ :
3 2

—

x Tl - i b’..(uﬂ')@'")

= X P '.'- 6.?')&"
Slufor: *

3 & o—
N+ n2-1

Y

" (;f.jl.-).(ﬂ -1)

+ Uxn
JEHRS

For More Notes, MCQs, Online MCQs Test Please visit = AdamjeeCoaching.Blogspot.com
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MATHEMATICS (SINDH BOARD)
cass: g EXERCISE: 3] Ques : Exmph #* 2

Cimpli ! - I
P ‘3 x>~ 23 =]

Solution : a’- 5‘.(0.1-5)(&-5

' - ' l = ‘*" )h v

o 15s (- D {mie? )

w31 a>- b= (a- 5)(.’...54-#‘9

U S
(x-Drr=x+")

R

e
() (- D

T es) %lz;(*g;:)-——»

‘Hm* l)|
MOREI

For More Notes, MCQs, Online MCQs Test Please visit = AdamjeeCoaching.Blogspot.com
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MATHEMATICS (SINDH BOARD])

CLASS: 9 EXERCISE: 3.] wes: Example # 3
Cimplify - x>, x-9

-2 22>

Soluhon :
- W e

x>~

For More Notes, MCQs, Online MCQs Test Pleose visit < AdamjeeCoaching.Blogspot.com
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MATHEMATICS (SINDH BOARD)

CLASS: Q EXERCISE: 3,) euss:E,..,.FJ.# 1

Simpli Ba-—Ay . 22-3xy-
plify 2n+ 0y '-lx-o-)-z,

- Solubieon : __LLU
3 - 1Y 2 X =
22+ 10y Yz +20y
3x-9 x Y= 204

Fanioy - sy

For More Notes, MCQs, Online MCQs Test Please visit =» AdamjeeCoaching.Blogspot.com
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MATHEMATICS (SINDH BOARD)
ciass: q  exeroise: 3. ues : Examnple # 1

Pind the value of _22+4z .

3 e
=3, y=2 and z‘:':lga 7q=z4

Solution:
R Sl
A3+ Y-z

= ___( 3)* 'L(Z‘).L—')— ‘1) (__ |)‘l

34 (2)F

For More Notes, MCQs, Online MCQs Test Please visit < AdamjeeCoaching.Blogspot.com
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MATHEMATICS (SINDH BOARD)
Cass: 9 EXERCISE: 3 ] Ques: 19

Exomine whether the following algebvaic
expressipms Oare polswmfds or ‘notzgeb
e 2uy*-3%* 4+ by2-6 | oy 2

Solubion: | X+2
Not Polgnomial. e
 Not Polgnemial
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MATHEMATICS (SINDH BOARD)
cLass: 9 EXERCISE: 3] Ques: 2

Examine whether hMMn?upmm
ratiornal or mot :

Ci-w*+ 2% 43 - fv- r-—,li

'x.;-ll X r
S.’Ebr, ‘ g Grpgﬁimz &’ll;_".';ﬂ?

i 2+ 5]x -2

For More Notes, MCQs, Online MCQs Test Please visit = AdomjeeCoaching.Blogspot.com
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MATHEMATICS (SINDH BOARD)

CLASS Q CHAPTER

3

EXERCISE

3.1

[Qg educe the &lhn-‘-ri_% dowest fovrn :

i- P% loo
P24 10
Solubion :

P~ 100
P*+ 10

i
o

FOR
MORE!!!

|
P40 fz’—ﬁ

+P*+ 0.
—ng>R
Y ;‘:.-.r..
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MATHEMATICS (SINDH BOARD)
cLass: q EXERCISE: 3] QUES: 3

Reduce the follewing into the lowest

: A ,,
£ D '——&—"
_P*_.pl% i L

-_—

For More Notes, MCQS, Online MCQs Test Please visit = AdomjeeCoaching.Blogspot.com
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MATHEMATICS (SINDH BOARD)
CLAss: Q EXERCISE: 3] QUES: 3

Reduce the following trfo their lowest form:
+ (axb?) = (0 th)fa-

'V. tn +u)2--_ Ez,
Y~ hiie
= (x_;y!ﬂj_w‘f)
R2YyrZ

- (xry -2) Ans

For More Notes, MCQs, Online MCQs Test Please visit < AdamjeeCoaching.Blogspot.com
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MATHEMATICS (SINDH BOARD)
CLASS: q EXERCISE: 3. QUES: 3

Reduce the following into their lowest formn:
Vi- I"t:'— ﬁ -+ gg t*%20 :-'-ngg"
(ut -t2)(5-t)
Soletron:
y (t*- 9t + 20,
£ (u-t*)(5-t)
tz_qt—5t-r2o
0 Bl U
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MATHEMATICS (SINDH BOARD)
cLass: 9 EXERCISE: 3.] QUES: 3

Reduce Hhe follawing into thetr lowert formm: .
viii- Yo 24 + 36 x*x+9 =M

o> b*- @ +b)@ -.b)
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MATHEMATICS (SINDH BOARD)
CLASS: q EXERCISE: 3.] QUES: Y

gimpli’f‘ H

o Hx—l , Yesl
2n—2 pRIE A
Colutbion:

@_’MH’—*—’)
2x-2) (2%12)
29 %_ﬂﬂ" .
: l_ai:d] |
Yxn? -
e
"

For More Notes, MCQs, Online MCQs Test Please visit = AdamjeeCoaching.Blogspot.com
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MATHEMATICS (SINDH BOARD)
EXERCISE: 3] Ques: Y

x+3 +22n* Y

T T (?)

N t:::m g

- FOR
MORE!!!

For More Notes, MCQs, Online MCQs Test Pleose visit = AdamjeeCoaching.Blogspot.com
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MATHEMATICS (SINDH BOARD)
CLAsS:  q EXERCISE :  3.] QUES: Iy

Simplity :
i.'rp 3‘”3._15 & .
d*-Sy  Syp=5y
gb'll""“z
& _ 5 *—L_
y(y-5)  549(y-1

2 or-br la+b)(2-b)
. [y*5 > ——

§
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MATHEMATICS (SINDH BOARD)
CLASS: q EXERCISE: 3] ques: Y

SWlﬁt

+|
S'oulio-n 'l.u
xy-1) + (myn) (ey 1))
ﬁts-r')(*:l"')

-ﬁ—zﬁ,,:.;’?ig-o
L
- 29545
MORE!!!

For More Notes, MCQs, Online MCQs Test Please visit = AdomjeeCooching.Blogspot.com
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MATHEMATICS (SINDH BOARD)

CLASS: q EXERCISE: 3] QuEs: Y
Cimplify: =% -5 - - bz*
v.__ Y r—2
S:-;:l'z-'.i Yz2-4
lution :
i) + —2‘;,‘,
z25z+2-5 (==

(;guﬁm 2 (z.n)(z—') Lem. P.C.Fx P-UnC 4
7| BRG]

For More Notes, MCQs, Online MCQs Test Please visit = AdamjeeCooching.Blogspot.com




Subscribe My Channel = youtube.com/c/AdamjeeCoachingChannel

MATHEMATICS (SINDH BOARD)

CLASS: q EXERCISE: 3} QUES: Y}
glmplifuz
vie _1 . + 20

&lmt’a-b a;- bt ~a%- b’.(ﬁ*b){d—b}

24

a+b a-l-b +(¢;.,\~b)l-'-u-'b) m.ud-ele"w"kc
LC. of Un
O facher.

For More Notes, MCQs, Online MCQs Test Please visit = AdomjeeCoaching.Blogspot.com
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MATHEMATICS (SINDH BOARD)
cLass: 9 EXERCISE: 3] Ques: Y

siﬂ?‘ifﬂt
& —.!,-— T H+l + a—l
g™ Y- Y+
"?Hl.".:“ - . (dmb &% b‘)-@-rb){l-l)
“Gr-o°
. uy
(gD lg-")
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MATHEMATICS (SINDH BOARD)
: o EXERCISE: 3.) Ques: Y

S'Mﬁz
il - = i ’ + l_ + _!_ v
n+ 2%~
Soluhion: 4
il e i ~ 0%b 'ofb){a-b)
1y 2n-Y x> )

" il il
20y T 2wy (2m0y) (2%-Y)

n-Y)

A,

(2 +

For More Notes, MCQs, Online MCQs Test Please visit = AdamjeeCoaching.Blogspot.com
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MATHEMATICS (SINDH BOARD)

CLASS: EXERCISE: 3.) QuEs: Y
- K
cbl?ll‘ut ﬂ-.‘q‘ q‘l Q 3'
W4bx+q 227-18 2(n2 a?
CSolution: 2
. 2[(%) (3]
2 33+ 9

-2

. 23— lox +12 ~ - XTE
2 (a3)* (23

-t 18 s

2 (x+3)" (23

For More Notes, MCQs, Online MCQs Test Please visit < AdamjeeCoaching.Blogspot.com
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MATHEMATICS (SINDH BOARD)
CLASS: q EXERCISE: 3.) QUES: Y

fa-3) [a+] a+3 +(a-0)(a*1) (a+3)+ (a-1)a-3)(a+3) + la-1[a=3)[a+1)
) (a-1) (d-3)(a+l){a +3)
(da-3a-Dlors) Hibo-a-D(ar)+ (0-3a-a+3)1s3)+ la20-0+3) o)

la-1) (a-3) (a+*)(a+3)
338+ a% 33t Su St e 35 T es.

. @._z_odn_wa_ 1) (a+3) + (0% a+3) (a+3)+ [0 Ya 3k
=1) (a-3)[e+ "‘!

828 -9) +(0% 20> a
(a-1)(a-3) (o

Mun III
r

a3-200..
] (l:--"IM') (-3)(+3)
Yai 20°
(-1 (ax-3)
= Ho2-20¢
@-1)(0=9)

For More Notes, MCQs, Online MCQs Test Please visit = AdamjeeCoaching.Blogspot.com




Subscribe My Channel = youtube.com/c/AdamjeeCoachingChannel

MATHEMATICS (SINDH BOARD)
EXERCISE: 3] QUES: &

mdlcnrhd s ond simplify.

For More Notes, MCQs, Online MCQs Test Please visit < AdomjeeCoaching.Blogspot.com
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MATHEMATICS (SINDH BOARD)

_ss| 9 ‘ " 3 LLXEI' ISE 3.1 _ﬁ
| Rrform the indicated operabions and eimplify:
X+3 . Yn2-qy>
Colukon : . axb*:(a fb)(a'b)
2 ]
_x#3 . (207 (3y)
3y-2z  y(x +3)

g Rl

-..'._(2

As

T -y
MORE!!!

For More Notes, MCC.- -:Ds est Please visit > Ad imjeeCoach’ « Blogspot.com
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M/ 'HEMATICS (SINDH BUARD] n
8| q 1 3 | xusE] 3] !

Q5 Rrform -he idmfd_ﬁcﬁm and s:vnpifa 7

Wi - Wl I.+l o a Do
2wt - %.

Soljution -
( +;*""') (‘:j')) ‘atb(a%b) (e-b)
x (2+!

2
For More Notes, M nline ' es’ Pleose vic ' - AdeyjeeCoach' g.Blogsnot.com
. ——

|
” L — C— — e 3o e —
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M/ THEMAT 'CS (SINDH BOARD)
ss| q "Chap 3 | [ xerose [ 30)
Q5| Prform the indicoted operations and simplify : |
iv- B(y+3) x 12 (y +1 = 8(y+)
9

U(y+3) s
(9+3)
e

T H (g

5
3 Blyt)

For More Notes, MC' Online MCO: eose vi. AdamjeeCoachi 3.Blogspot.com

| — — e ————— —
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|
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/t'AdomjeeCoochin: Chor

M \THEMAT = [(SINDH BOARD)
Cuss)| @ | camen| § | ! ERUSE | 3 _7]
Q5 Ferform 1he _indicoted operations and Smphfy:
V- ¥ =25 . 92,54 |
g:::::_ 3:’ Y*-9 . arb?{a+b)(= -b)
| @)2(5)* - ¥(¥+5)

MunEIII
frr=
L)

For More Notes, MC(... nline M c.evi. - AdoijeeCoaching.Blog-pot.com ‘
e — - ea - -
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V. THEMATICS (~'NDH BCARD)

(css] § | T [ 3 ] [Teemcse [ 39
Q6 Find the valve of E+-L. , then = X-y]
Soluton :
t- 2-Y
Yy -0

_L-rw
"y - ®

k

. For More Notes, MCQ:  .ne MCOs TestPleo = = A njeeC achig.8'0g=por.com
L — —— — —  —— — .
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MATHEMATICS (SINDH BOARD)

cass | Q| [cHaprer 3 EXERCISE | )
Q| Find #he wolues of .
ii 5(x+Y) i x--Y , y4-9
' 3x2Jy +6 !
So lubiom:
" 5‘-111-4! “Yx-Ya+16 0
IC g W

For More Notes, MCQs, Online MCQs Test Please visit - AdomjeeCoaching.Blogspot.com
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I‘ATHEMAT %S (SINDH BOARD)

Cuss| @ | cwurmer, 3 | | erCISE | 3.8

@ Find Hhe Values of . | B

i- Y2abic? s B a-:s_, 5:2 ;nd c=1
3a*b+1

Colubion, =

y2 (3)(2)*(}

3(3)" 2)-!-'

|
_ 42 aaaiuwl |

thi‘.?! sc

!

For More Notes, M| nli - MCQs f ' Au m}eeCaorhmgr Jspot.com ”
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MATHEMAT S (SINDH BOARD) !
css| §  "TUTER 3 | [ exercisE | 39 :[

—

Q#HFind the values of : |

i, (x+y)3-2* ;¢ %=2,yYy=-% and 223
xry: 4 22
Solution 3

. (2+¢4)- (3)*

I

|

(2)t-*+ (3)® R

For More Notes,»  Onlin MCQ=  se v : - AdamjeeCoachi g Blogspot.com
"_&“ e — e RR—— - ———
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"ATHEMA™ > [SINOH BOARD)

Class | qQ | CHAPTER 3 —L | EXERCISE 3.1 |
# Fnd the values of :
v. 2%‘” _ILC,'_ s Fu= 2 ’3-',233,53'0,(=_§.
Co Jution: =
f

2)*(-) _ W) (3
” 3(1_3)() 2)5'3)

|
For More Notes, I Unlinc MCOs T *  Gose visit = AdomjeeCoaching.Blogspot.com '
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“HEMAT C8 (SINDH BOARD)
.. |[CLAsS | Q  TCHA R 3 ) | -XERCISE [ 3.)

— e

Q#/Fnd the wvalues of

i V. (GLI_C) !c'i'd) & i'f Q_:', b=3,c ==-3
| (a+cd?) x(c‘b-d) d=2
SO"I"'M:

= ( 3 1"' -3 K_(__-aﬁ ® ¢
PN (- 21\

For More Notes, | I MU0 astPleo  visi: - AdomjeeCooching,Blogspot.com
B e — . i —— ==T '_ﬂ_“ .
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MATHEMATICS (SINDH BOARD)

CHAPTER 3 EXERCISE

-
EEELE L LT

i

ﬁ;bmd% >
e (a+b)* +(a-b)* = 2 p>+ b*) O\

G\S

% (a+b)* = (a-b)* = Uab

|
ii. (a+b+c)® = a2+b*+Cc*r 20

Cubic WMO:B + b3+ 3a b(a+b) _

o

For More Notes, MCQs, Online MCQs Test Please visit = AdamjeeCoaching.Blogspot.com
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1A S (SINDH BO/RD) ’

(ouss| 9 | arii g | [exe

_'3.2?5;«5&1‘
|_[Algebraic Formuas:
i. [a+b)* + (a-b)* = 2(azsb?)
vm“"ﬁﬁh:
L.H-S:

= (a+b)* + (a-b)* ; (mb)lia:-:z_ab-fbr
= (a"a-lﬁq-b‘.,.a’_zq&,bl (a- b)2a>2ab+b’
- a*+b +a>+ b '

B M") RMH-

i For More Notes, ML ™

—

COs st Pleo e visit = Ado:. ;eeCuo_tfw_s' Slogspot.com
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Vo IEAAT CS (SINDH BOARD)
cuss[ q 03 | R (32 Examples |

’Elrﬂpwﬂ the MIHES oF i a‘-rb‘ cnd i'_ ab, |

when a+b-6 and a-b=( -
Solul-on
l.- a-,i‘b = ?
a: b = 6
a-b=4

, We Enouw = 2
N.(:fb)' + (lt -b)> = 2(a*+

- ( 6) (_'l)l =

36 16 - "' @ b
S
> 20°=ab
—4[@ = |
For More Notes, ML n. .COs Test Pleosc visit - AdomjeeCoochi g.8logspot.com
T — | ———. L emm— e
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THEMATICS (FINDH B0/ °D)

|cuss| q |Ch TER] F i 32 Formulas ;|
__|Rigebroie  Formula. .

(a+b+c)*. a*+ b*+c2+ 20b+ 2be +2¢0.
Verficaton:

= (a+bic
= (ﬂ-(ﬂ.fbl-z.)-f—b (q+b+c)+cg+ b+¢)
= a*+abrac +ab+b’;bec tac +Bc +C*

mmﬂhb +2be 4+ 2ac Ans

Cp »(F)* = o>+ b’+
> (F)* = ax+biac
qq - 02y b2+C

> 4q-30 = or+bi+C

:9_@'“-% btac® o 19/ s

For More Notes, M, On'in MCQs Test Pleose vis “—> Ad ,ée-:uu: ;Btc;spnt.wm
———— — — e —— -
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MATHEMATICS (SINDH BOARD)

ClLAss | q CHAPTER [ 3 | EXERCISE |32 Examples

Ex2 Find the value of of (a+b+C),wohen a>+b*+ciig
and ab +bc +acC = 3] :
S’I'l.-‘it::--‘l ’ ’ ﬁ'fb-tc = 38 and Gblbc* ac=3l

Now Enow ., okt ,:
-0 (A-l-ﬁt.)" = (@*3b*+ C* + 2ab+2bcy 2Ca .

(asb+c)?: (38)+2(abrbc+ca)

¢)*- 38 +2(30) foo1e
o )‘.-. 28+ 62

Now
» fﬂ)’
> 6'!
- ‘.,q' ab-l-bt +ce -
= [F&bc + Co. = ﬁ-i'—’

For More Notes, MCQs, Online MCOQs Test Pl 1se visit = AdamjeeCoaching.Blogspot.com
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MATHEMATICS (SIMNDH BOARD)

cuss| q CHAPTER | 3 | [ xeRcist 32 Fovmuloe:
i-(a+b)?- a2+b + ?’:‘}.b_(?l'}ﬁv

VQ;GCII:"'.M 1> + o

L.H-S: N
(a+b)?>. (a+b)(ath)

- (atb) (a™ ﬂabrb‘z )|

_ a4 20*b+ab’r02b+2ab +b*)

! a3+ b* + 3a%b + 3ab’

JOIN- S5 Ssblach)
1y

- (ath)’=2"¢

e visit < AdomjeeCoaching.Blogspot.com

For More Notes, MCQs, Dnline MCQs Test
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cass|[ q CHAPTER | 3 | [ exeRr st 3.2, Examples|

Ex1 Find

e value of a3 +b> when a+b=Y ¢abab:

Slulion
a®+b -
-(ﬁk-l :’j—a a%s b?+3ab(a? 5)
> (4)? - a3+b2+ 3(s) (4)

3.7 . ash=% ., ab-S

" a;.'.bs-'- 60

For More Notes, MCQs, Online MCQs Tes!

L visit 2 Ad yeeCoaching.Blogspot.com
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MATHEMATICS (SINDH BOARD)

CHAPTER | 3

EXERCISE Mus

roforee

g ~all

Example : 3 :

Cind e value of n’+-li-3 Jwhen

2+l = 3:
2w




A3

_ T
Subscribe My Channel = yor t m/c/Adomj I:_nnchingchunnel

MATHEMAT!Z" “INDH B. ARD)

cuss| q CHAPIER | 3 [ Bcic ot (3.2 Ecamples:
Ex3|Find the w:lues__of K" _ti_ """”"i"ifh
go‘:;toj; =? r X t = g=1
n =
e frak-:- . -
“ta_+b)‘;m= a3+ b3+ &b(af_»

(2+L)
(e Ly - wedy # 3L (20 5)
o (3)%= %3+ +3 (3)

!
|
|
1
i
!
!
1

For More Notes, MCQs, Online MCOs @ ‘e visit 9 Ac- - cCooching.Blogspot.com
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> 8x- L, -3k - 64

MunE.--
=

For More Notes, MCQs, Online MCQs Test Please visit = AdomjeeCoaching.Blogspot.com
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Cubic Formulas : ) __ _ |

Subscribe My Chonnel >

evifoah a
R (a2b) (8>~ ab+ b*)

-a3- QB(*Q%—gb“J-ba

= a_s_'_b3

,. %‘_"![ .
fe

e visit = Ada oching.Blogspot.com i

For More Notes, MCQs, Online MC_ .
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cuss| q CHAP' - N E ERC |2

2 Exawples :
El Brd e proct of (0 4 Jand[at )
(%) (50

3 L3
(a.+b)(a’-ab+b’) =a%+b

For More Notes, MCQs, Online M "




/
f

MATHEM/ 'INDH B0, (1)
cuss|[ q CHAP R B | [ Encres Iw,j
Ex3| Find -the continued puoduct : H
! i (2+y) (- 2g+ ) (x-Y) (2 +2y+Y>) |
Sohehiomn -‘

(x+9) (2= 29> §°) (2-9) reny vy ) |

|
|
|
l

For More Notes, MCQs, Onlin- - Adony  ching.Blogspot.com
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Class | 9 CHAPTER [ 3 XEF CISE 3.2

32 Algebroic Formulas:

1-':‘5”" '")e Wltle O'F Q:E.-IIJM'\ G;S..
and ab<20:

Sokrl-: .

RBal o beQ and ab=20

a-b-t7 VLIRS
(a+b)*= (a-b)* - Yab |, 1.
9@) 5 (n-b ‘-: ll(zo)

-b)* =80

Uﬂl i &

= (ll b)&

2. GEnd +he value ¢

a-b=? , a+b=5
Nom.me- 5)3
2 (5)*- (a- l)’) "
» oS- [0-— =
’s-.'_a.‘- Il. b)
->J'(?T)‘=j“"

For More Notes, MCQs, Online MCQs Test Pleose visit - AdomjeeCoaching.Blogspot.com
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MATHEMATICS (SINDH BOARD)

cuass| q CHAPTER | 3 EXERCISE | 3.2

3.find_the volve' of a’+b* amd ab, when
atb=8 aord a-b:=6 .,
?:g‘-? ‘,ab-? ,arb=8 , and a-b=6
Now, we Ensw Thal: = .
(@1b)* + (a-b)* = 2(0>+F’) |
> (8)*+(6)* = 2 (0*+F
= 6.,' + % = 2.(&"-}5‘

- la2+b%)

For More Notes, MCQs, Online MCQs Test Please visit > AdamjeeCoaching.Blogspot.com
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MATHEMATICS (SINDH BOARD)
cuss| q CHAPTER [ 3 | EXERCISE &

U_.Fnd +he value of 0+ b> and ab ., when
arb=5 and a-b =3

?’Tgf:‘} ab = !’ sa+rb=5 M-‘ ﬂ b-i
Neow, we Ffind 024b*:

[ 2 V] :
t(.:-r b)* + (a-b)

» ($)*+ (3) =

For More Notes, MCQs, Online MCQs Test Plegse visit = AdamjeeCoaching.8logspot.com
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MATHEMATICS (SINDH BOARD)

cuss [ CHAPTER [ 3 EXERCISE | 3.2

Find the value of a2+ b*+c® when

ﬁ'f'l;zc =9 and abi+bc +ac <13
So X T
a’-,b‘:::" ? ,a+btC=9 ,abibciac.13
No-;wc KCnew H"
(.H:OC) = 0%y b*-u.*-nlthlbcrzm
By Subshbubing #he values of a+b+c=9

ud.hk;ac_a w abswue W

b+ €242 (1)
S

2 Z
,,8' =a+5

For More Notes, MCQs, Online MCQs Test Pleose visit & AdamjeeCoaching.Blogspot.com
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MATHEMATICS (SINDH BOARD)

cass | q CHAPTER | 3 | [Texercise | 3.2

6. Cnd the value of 02:b? +C* ,when

a+b+cC = .é. ond ab+be yac - "‘.g.

Solution-
a’:b‘ta . P dfbfc,-_la_ , abtbecirac-

-vz;wu) 2. @*+b3c*+ 2(abe bcra.c)

For More Notes, MCQs, Online MCQs Test Please visit = AdamjeeCoaching.Blogspot.com
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'HEMATICS (S"'DH BOARD) |
CLass | q 4 « -3 ' " xercisE | 3Q :

 F[Find the value of atb+c,when nﬁb‘a-cti_&
and ab+ bc+ac 10 :
Solo#o-n: :

atbtc -7 » a*tb*+c. 29 and abtberac: o

'I New, we Erow Hhak:
| (a+;+c)1=d"+ b*+C* 4+ 7-(“"""':?&)

| For More Notes, MCQs Online 5 Test Plegse . AcomjeeCoochi “logspot.com l
l"___‘_-' e — . e —— o e
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MATHEMATICS (S!. JH BOARD)
cuss| CHAP'R | 3 | | iercisE | 3.2 ‘

[8.[Find the wolue of atbic. when

1

2:"""{‘4*(.:'-: 0.9 ond abibc+ac 0% 0[

afﬂ:':} a’+b*1c2= 0.9 awd abibciac=02
v krow fak:

‘:::b:t 2. ar+b*ec> +2 (abtbe+ co

New, ¢ 'aa the Whu"~'r'n0-‘0~e)f'lﬂ+k=

> (0+tb+()* - 0.9 +2(08) [

| For More Notes, MCQs, Online M. 05 Test Pleose vi-

* AdomjeeCoaching.Blogspot.com
I'.-h L e -
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MATHEMATICS (SINDH BOARD)

CHAP' 3

ST ee—— T - e me———

.fAuumjeeCouchi_ hunn:_r__ T

|cuss| q

cisE [ 3.2 ]
9:[nd the volue of absbes ac._whem

a+b4C =10 omd a2+b>4c2 . 20
3’:‘;,'2‘:2}.1 ? atb+c =10 and a*tb’c: 20
'(::iﬁ)ngt::i% g
Noww, Subshhuling @

f

Test Please visit -}'“dnmjee[:oacr, 3-Blogspot.com
: ————————
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CLASS q ':L:HAPL 1 3 [_E_X CISE 3-1_

Find +he value of c‘g_?!wbeh;-lg:'f_

and ab =

@sbS 5 ath-l omd ob-3

Krew Hof:

a®+ b3+ 3(3)(") yxyxy!

_;lllfl!mm

>+

"Fﬁl’:’ a'\

For More Notes, MCQs, Online 1.CQs Test Please visit - Ac cmjeecoac 3.Blogspot.com
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. Gnd the value of ab, when a3-b3=5

ond ﬂ-—b-g_

Cen 1
C';':’:;‘-as-b"s pﬂ.fb:g
Now., we EKErow Hot:

:gz N 03-53—345(‘!_5)

> (5)*- 5-3ab(5) fo =,
J 5 - ICak

For More Notes, MCQs, Online :'C0 ¢ avisit - Adamje. ;.Blogspot.com
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IMATHEMA 'INDH BOAR 1)

_

ciass| 9 | CHAP = 8 | [ exerc ] 3.2
12, End the value of ab, when 03 b3.16

ond II.-E q

s";;t’;‘ a3-b3- l6 ond 0-b=Y
e Erow

'(':"'b;: ad - b 3ab (o-b)

Mo, Salefibuts ol e s . o

. Jﬂll% 16 - 3ab (4)
"FiiR.‘ 6 - *I1m :I-li{.-'

MGIEH! e

For More Notes, MC! . se visit < AdomjeeCooch g.Blogspot.com
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MATHEIVATIC™ “INDH BO " )
cass [ qQ CriAr 3 | [ exem JE 73 |
(13 Gnd the lnlue of a3 b" when o-b;S‘j
and ab.F
Solution:

a3-b%*-?2, a-b=5 awnd ab-7
" W 'M

by - a5 -8 -3 (a-0)

Now, g..url-t. the velue of

ab-F in 0190"0-
-J?fﬂ‘as .

—

|
For More Notes, MCQs, 0 - To- it - > Ado cliing.Blogspot.com




Subscribe My Channel = youtube.comIchumjeeCou:hIngChunnel
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- Find the value of 12523+ y3when bx+y=13 and

%Y= 10
%-53;33-? , Smry<ld _amd ny=l0

For More Notes, MCQs, Online MCQs Test Please visit = AdamjeeCoaching.Blogspot.com
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MATHEMATICS (SINDH BOARD)

cuass | 9 CHAPTER | 3 EXERCISE | 3.2

05 Find Jhe_volue of 216a3- 343b3, when
6o-7b =ll ownd ab =8
g;'leaS: 3y3b®-? , 6a-Tb=Nn .ab=8

, 6a-Tb=1

For More Notes, MCQs, Online MCQs Test Please visit 2 AdomjeeCoaching.Blogspot.com
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ciass| q CHAPTER | 3 EXERCISE | 3.2

: 3 = |
Qﬂﬁd&e values of z'%;"a"‘"’"’ n-L .1

m:
,,_3.._#33? . u.-—.!i."

For More Notes, MCQs, Online MCQs Test Please visit - AdamjeeCooching.Blogspot.com
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—

cLass | q CHAPTER | 3 EXERCISE | 3.2
QFind the continued product by using the refevont
&wﬁ@s:
A (3.::."‘-0- 33‘)( 429~ 627y> 4 qy ¢
Soluben- + )

_ e gt [ (2(39) +(39)]
-(a+b) (c>-ab+ b2) - (a3 +b3)

S
FOR

_: ()= (49" _[2®-y2 | &

For More Notes, MCQs, Online MCQs Test Please vi AdamjeeCoaching.Blogspot.com
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cass | 9 CHAPTER | 3 EXERCISE 8.9

0.1 find e tonbnocd product ﬁd—uf '
G- (n-y) (%tY) (2*+Y>) (2>+ 2y +y>)
(2*-ny +y3) (¥4 229>+ yv)

Glution:

o (2-Y) P+ RY+y2) (xty) (2% 2y+y2)
(1’1-',") (=¥+ 7!‘3’--&3")

JﬂIN
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CLAass | 9 CHAPTER | 3 EXERCISE | 3.2

w (x- 2, 4a2) (x2 a) (2L ay +
"d-_?f",.tzli"y:)’ S

o (a-b)[a+b)- &*-b>
s> (x%y*) (n*ey2)(x*eny+y?) (2 ny+y?) (2% 2%
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Class| 9 CHAPTER | 3 EXERCISE | 3. 2

Qn: Fnd  Reduct of :

. (200 %) (- PA5) - )

tb) (a*-ab+ b‘) = a%+
3

b?
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cass| 9 CHAPTER | 3 EXERCISE | 3.2

Dgaﬁnd the preduct of:

lf){ﬁ'_._' + vy .,,)
)a =) (2)(%) l,-.)]

a-b) (& f‘b"‘b; = a3-
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CLASS CHAPTER EXERCISE M

_9»5‘1‘1 By - 317-2 [Frackion. of Surcld

71343

- I3y -31% - 27 7TH‘?
- 11 - 317 - 27

N

,2,zr+91‘*
_Yyp 3 S22 + 82 +

=(l|+§+8-i7 )H
= M2 A

For More Notes, MCQs, Online MCQs Test Pleose visit < AdamjeeCoaching.Blogspot.com




Subscribe My Channel = youtube.com/c/AdamjeeCoachingChannel

MATHEMATICS (SINDH BOARD)

9 cHapTER | 3 EXERCISE w

wisien of Surds :

ML“1 s...pil.{.,?'xf’

. Ias = Iyg
rg':—s x5 x rxlnlm

JSE::S x 2‘*11 x3

ﬁ 2?-1 EY

For More Notes, MCQs, Online MCQs Test Please visit = AdamjeeCoaching.Blogspot.com
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Cass | q CHAPTER | 3 EXERCISE |33 ~ - - ~3my

- Y8l
Solubion :

=gl 2"

- (33x3x3x X ‘2)

3":.‘2")

" = -

Y4
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MATHEMATICS (SINDH BOARD)

q CHAPTER 3 EXERCISE

. pl: gimifa:
Vii- ‘2[‘& (ns)%
J (0.0y)~3/2
Solution:

/ 128 Ya

_ 1.1944 Axs

For More Notes, MCQs, Online MCQs Test Please visit - AdomjeeCoaching.Blogspot.com
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cass|[ 9 CHAPTER | 3 EXERCISE | 3.3
' |Q1: (inplt' : |
Vil — 3 27 x ' 60 % = %:'

JnTe?l—xW
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CHAPTER EXERCISE | 3.3
of :
w.(2-13)

aM:

52"‘5

For More Notes, MCQs, Online MCQs Test Please visit = AdomjeeCoaching.Blogspot.com
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13357 r1s3-643

20+ (15°6) 53
¢ 20 + 913 Ay’

. 134

For More Notes, MCQs, Online MCQs Test Please visit <> AdomjeeCoaching.Blogspot.com
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MATHEMATICS (SINDH BOARD)
q CHAPTER | 3 EXERCISE [33 Q#3

w. J250 + tno +3JI0

lﬁhﬁ%g + f,_,,;,r‘hﬂ + 31——

+ 1{"6 + 3110

_ sl ﬁ;"

loﬁ —2?-3“‘-'— 3dn
. ‘olw - 61 -3
= (w-6- 2) I

For More Notes, MCQs, Online MCQs Test Please visit < AdomjeeCoaching.Blogspot.com
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9

CHAPTER | 3

EXERCISE

33 Q#3

I

Simp
vii- [17

)

' J’f’g [ 10-2. (7]
81i7)

177 (




Subscribe My Channel = youtube.com/c/AdomjeeCoochingChannel

MATHEMATICS (SINDH BOARD)

CHAPTER

EXERCISE

33 Q#3




Subscribe My Channel = youtube.com/c/AdamjeeCoochingChannel

MATHEMATICS (SINDH BOARD)

CHAPTER EXERCISE

For More Notes, MCQs, Online MCQs Test Please visit < AdamjeeCoaching.Blogspot.com




Subscribe My Channel = youtube.com/c/AdamjeeCoochingChannel

MATHEMATICS (SINDH BOARD)

CHAPTER | 3 EXERCISE |3.3 Q#Yy
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cuss| 9 CHAPTER | 3 EXEREIIE M
Example: 01

Rotionalize : _1__
5+203

Soludon :
[
= 5:203
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CHAPTER
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Eramples : 34
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Ciass| 9 CHAPTER | 3 EXERCISE | 3.4

| @1lFnd_he _comjugrle of Fhe Rllowing -

5 r_ ] v_ 5o +I3
Soludion :

.r+2- . 5fo-13

i lo+J10 vi. ufs -1
Colubion : Colubion :

" Colubion:
.32-213

For Mare Notes, MCQs, Online MCQs Test Pleose visit - AdomjeeCoaching.Blogspot.com
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Ql%ﬁﬁm Jhe demom'inales, of the Mn-‘llr’j
. . ;
J_-Ho

For More Notes, MCQs, Online MCQs Test Please visit < AdomjeeCoaching.Blogspot.com
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| Qa: Reimalize 5 i s bl
BT
Solution: CJJE;.':'

B
y-3l6

a avd b
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class | 9 CHAPTER | 3 EXERCISE | 3.4

| Q2: Rafioralize the derominctor of the following :

v 15 _ L H-J2
7-25 | JZ+N
Solubion: Colution :

15 - n-rz

7-215 Iz am

and dividi

m-mﬂ:’?ﬂa : "’ I mmﬂainn .'J
by i MJ"G"“']‘-‘_  byds comj

| poth

'7—d'5 UI “)—;—F-‘; n-I2

-18 el
__15 !TH 5) |

-

u9

For More Notes, MCQs, Online MCQs Test Please visit > AdamjeeCoaching,Blagspot.com
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cuss| q CHAPTER | 3 EXERCISE | 3.4

| Q2:Rakionalize the denominoder of he Jollowing : |
. _1
J7F +4

Solution LL"

w-o"““““'“a i

Lo

For More Notes, MCOs, Online MCQs Test Please visit 2 AdamjeeCoaching.Blogspot.com
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cass| 9 CHAPTER [ 3 EXERCISE | 3.4

| Qa:i. If 2=8-317, find ‘x-rl )’

otes, MCQS, ne MCQs Test Please visit & AdamjeeCoaching.Blogspot.com
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cass | 9 CHAPTER | 3 EXERCISE | 3.4

Ji- If 1 = 2J28 -1, find x.:

For Mare Notes, MCQs, Online MCQs Test Please visit 2 AdamjeeCoaching.Blogspot.com
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ciass | @ CHAPTER | 3 EXERCISE

iii-!f W= B-ﬂ_l;

gy, P~

3+2[2

For More Notes, MCQs, Online MCQs Test Please visit = AdomjeeCoaching.Blogspot.com
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cass | 9 CHAPTER | 3 EXERCISE 3.4

ii- If ==3-20
-u._l_ 0 :.-.L .n%_l. and %Y+ L

" @ owd O
= 3-213 3:»1!")

G-3-213

For More Notes, MCQs, Online MCQs Test Please visit - AdomjeeCoaching.Blogspot.com
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cLass| 9 CHAPTER | 3 EXERCISE | 3.4

Q35 find _IF a-3-25

fird ne L, x-L, x"+..L , WL

To, ford 'lt"+-|—- g‘]""“"‘a "!"‘@
on both wq

D> (! + ‘L) (3 4)" b)) areb b
-'-(..L') ns%6

For More Notes, MCQs, Online MCQs Test Please visit = AdamjeeCoaching.Blogspot.com
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Solubion :

For More Notes, MCQs, Online MCQs Test Please visit - AdamjeeCoaoching.Blogspot.com
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cuss | q CHAPTER | 3 EXERCISE | 3.4

| Qﬂ_’:lgonﬂ&.

v_

6 !
+ 2 36
Solu ‘o?n-:r

5

6+ J 33...36
MultpPy§ omd

For More Notes, MCQs, Online MCQs Test Please visit = AdamjeeCoaching.Blogspot.com
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CHAPTER | 3 EXERCISE 34

.
3-2I3 3+2J2
Solution :

23) -[s(3-212)]
!_5%__’—1%)—(3*25)

2 - |§—|o.l'2_'.)
m={zﬁr
: :

For More Notes, MCQs, Online MCQs Test Please visit > AdamjeeCooching.Blogspot.com
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MATHEMATICS (SINDH BOARD)

CLASS CHAPTER

k.

EXERCISE

3.4

=

For More Notes, MCQs, Online MCQs Test Pleose visit & AdomjeeCoaching.Blogspot.com
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MATHEMATICS (FEDERAL BOARD)
cLass: q EXERCISE : £.] QUES: E

i- Faclors Of Jhe 4ype : ka + kb+ kc
Example 1:
: loa. + 15b-20¢

For More Notes, MCQs, Online MCQs Test Please visit = AdaomjeeCoaching.Blogspot.com




- Subscribe My Channel = youtube.com/c/AdamjeeCoachingChannel

MATHEMATICS (FEDERAL BOARD)
cLass: 9 EXERCISE: Y, [ QUES: [y es:

ii. Factors of fhe 1ype : ac+ad +bc+

Example : 1
Find the factors of 3a-ac-3¢c+c*
Solution:
. 3a-0Qc-3¢c +Cc*
-a(3-¢)-¢(3-c¢)

. (3-0)(a-¢)

JOIN

For More Notes, MCQs, Online MCQs Test Please visit = AdomjeeCoaching.Blogspot.com
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MATHEMATICS (FEDERAL BOARD)
CLass: @ EXERCISE: 4] Ques: E

. Factors of the fype : a2t 2ab + b?: h |
a"-fza.ln-b“.-.-(«!H-b)=L |
2ob + b*= (a-b)*

Example : 1
Foclorize 160>+ UOab + 25b*
Solution:

~(4a)* + 2(‘-!&)(55)1- (5b)*

For More Notes, MCQs, Online MCQs Test Please visit = AdomjeeCooching.Blogspot.com
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MATHEMATICS (FEDERAL BOARD) |

cuass: 9 EXERCISE: .| es:  Examples ]
l

I

iv- Foclors of the typR:a*-h*
| a*- b* = (a+b)(a-b)

=G(l"il"z)@"3 -

le 3: :
Fachree A1 (65 -t%)]

- (3r*)- (65-1Y)” -
- (3r% 6s-t)(3r-16s-E)) - f,,»..}s-v)(sms—e—
Braes-2)BrR6sH) T agcat) (s

For More Notes, MCQs, Online MCQs Test Please visit = AdomjeeCoaching.Blogspot.com
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MATHEMATICS (FEDERAL BOARD)

cass: @ EXERCISE: Y.] QUES Jes :

V. Faclors of the {ype : [a*#* 2ab ::!) -
mple 1:

Er:lmze a2e Ynyts Uyt Uz? |

= ("") *2(*)(’9*‘231) = e - [otb)*

[Q’J-beb:
(d - l-lz’-
= (42 - (22)°

. (¥l 22) 9%
.J\MBE!!!
~ S Ar*

= tar)“-'“”’ W)+

L Ge-w)- (3)
- (Bp-v + 3r) (2p-v- ?"") AHrs

For More Notes, MCQs, Online MCQs Test Please visit - AdamjeeCoaching.Blogspot.com
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MATHEMATICS (FEDERAL BOARD)
CLAss: 4 EXERCISE: g QUES : &m les -

i. Foclors of the +ype : ({o))3- (J'B‘)1

Exawple : 1
Hw: (Ixy)'- (IZ)*

i =
Fop  o{[m]

5, _ b= (ﬁ*b)b -'b)

For More Notes, MCQs, Online MCQs Test Pleose visit = AdomjeeCooching.Blogspot.com
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] MATHEMATICS (FEDERAL BOARD) ‘

ClAss: q EXERCISE : l|.| Ques: 4
Foclevize the : Gl = Y
- UHxs l6y+ 2Uz GQryu-=16

| Solufon:
i =4 (2 ..lly+62)

'i 2y 3 Y
| 5 EERays ey

.:x.J(ﬂl‘ﬂS"‘ by’z)

Pt
MQB )v'mw'(v
W '

j - -'-.2_2.14.1323
| Solets 8 N

i - ?.';%2 -q’b (2-v) +a’b’(x—9)

i For More Notes, MCQs, Online MCQs Test Please visit < AdomjeeCoaching.Blogspot.com
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MATHEMATICS (FEDERAL BOARD)

} ciass: q EXERCISE: &4.] QUES: 2

- ?a.dq
Col.

Faclorize ‘he '5"0'-“"8 :

i-Tn + X2 + 7z +2*
Solulion : a
= T +2A2Z +7z +2

- % (#+2)+Z(F+2)

= (#+2)(+2) P

!

For Mare Notes, MC(Qs. Online MCQs Test Please visit = AdamjeeCoaching.Blogspot.com
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MATHEMATICS (FEDERAL BOARD) |
cLass: 9 EXERCISE: Ug.f QUES: 2 [
| Faclorize the following:
iv- ¥ + Qs - Trs - 6382

- P>+ Qrs - Trs — 638> 1
- r(l"-fQS)-"'?S (I" -I-QS) i
_ (r+Qs) (P-?S) |

JUIN

For More Notes, MCQs. Online MCQs Test Please visit = AdamjeeCoaching.Blogspot.com
e ———— _
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MATHEMATICS (FEDERAL BOARD)

CLASS ! q EXERCISE : q, QUES : 3

Find The Jactors
i- L4a* + 12ab +?{b‘

“""‘m; Yl2ab + Qb

(20):' -l-?-(zﬁ)(Bb)* (3b‘) 20b+ bl (a-{»b)
. < (2004 31'))

JOIN

A a* 20

2+
!UBD}N—"*' |

) P [69:. + |)?

. 2 ?l-l +_.'j_
Colubion: Y2 1N\
+2(2)(
g 5 o?;";,,b:‘b‘-- b’
- (2 -|--2|_—’l - s

For More Notes, MCQs, Online MCQs Test Pleose visit = AdomjeeCooching.Blogspot.com
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MATHEMATICS (FEDERAL BOARD) |
CLAss: Q EXERCISE: &g.§ QUES: 3B

Find the factors of :
iv. 8ly2 + luyyz +64z*
aors e 2(9) (82) + (82)°
= a q Z + z
(qy) + , a’.,hb{-bzﬁ (ﬁ."'b)l

. l‘!3 ¥ 82)"
JOIN
v- a’b + a'b*|
'y
mm +0'b’
E )(a"b)
'b')‘

Vi. a4+ 0.4o +0.04
CQludion:
= (@) +a(@)02)+
-..- o>+ J_ﬂ.b '.‘ba =

[a+ '3'-1):l

- (a5 +0

g

For More Notes, MCQs, Online MCQs Test Pleose visit = AdamjeeCoaching.Blogspot.com
#
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MATHEMATICS (FEDERAL BOARD)
| cuass: EXERCISE: 4.} QUES: o

liu:hri e:
i- bY- v Yb2c>* + UcH

“bhfm )(2¢) + (ac)?

2 2 ct 2

‘(( )—2(‘)’ ( . .:I.‘ 20b +b*= (a- J‘
s (=2

» 3 dBHE,
R (ﬁf“)(’;’f‘f
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MATHEMATICS (FEDERAL BOARD)

| cLass: 9 EXERCISE: ¥ { Ques: Y

Foctorize .
iv. up-r‘v -6(pry)r + ¥

[3(p+‘V)J 2 () (P> ) + (v)

12@4 "(o' );

I]B(P"‘V) -r*) - My

ol o
o .

. 3 Eor More Notes, MCOs. Online MCQs Test Pl t -) Ado ;eeCooc ing.Blogspot.co
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MATHEMATICS (FEDERAL BOARD)

Lass: q EXERCISE: Uy { QUES: &
o ab> - 02-b7 - (avtYa-B)
. Solusbion:
= '-lin.“*-?w‘"’:t &
. (30.-)l - (35) R
” . a2 b* = (a+b)(@~b)

| - (3a +3b) (3a-3b)

i IGJ-Q.L

| For More Notes, MCQs. Online MCQs Test Please visit - AdamjeeCoaching.Blogspot.com
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MATHEMATICS (FEDERAL BOARD)
LAss: 9 EXERCISE: &g { Ques: §
r.l.hrit:.: .
v L x¥- loO
; " joo d
i m:

- ar-b2: (a+b)(a-b)

g :»_:':H.:,)‘-,i;--"u) pos

|
1
4
1
f
!
{

. For More Notes, MCQs. Online MLU") Te 5t PI os :t - AdomjeeCoaoching.Blogspo!
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MATHEMATICS (FEDERAL BOARD)
Lass:  Q EXERCISE : Y &

naChannel

———

Find +the factors of :
i- (2x+2)*-(22-2)
ahon: -
= (2m -0-1)"" (21" 2) - a>~b*= (a+ b)le-b)

{(11#1) + (Zx-l)] [(@x+2)- (2x -2)]

. 2mATE

JOIN

o
b

For More Notes, MCQs, Online MCQs Test Pleose visit <= AdomjeeCoaching.Blogspot.co
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MATHEMATICS (FEDERAL BOARD)
ciss:  q EXERCISE: o] oues: @

ﬁnd the factore of -

|- 16994 (:u;m)
| So

lebion: W = 3"
= le ﬂ. - (3*‘.")1

" 2)* _ (34+Y)"
(|33L ) (:—.:’_ -@__l_b)(n-b)

dﬂi"(uw)]['?"‘ _(3,,,., ]
[m] 3] [

[(q-x,‘ '-l_'f)-t ('{x -

w -

E - 3u_l_) (25__L)][(3,”_L) (;3 5_|’_)]

of More Notes, MCOs. Online MCOs Te
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MATHEMATICS (FEDERAL BOARD)
9 EXERCISE : l, [} QUES: @

Fond the factors

[a‘+2+ ] [b 1"'31]

- for v+ (- (973094 L]

(a%2ab+ U = CS b)"

(aJ AIN T

_(x*+2 ; ( Uy
=[(3x)'+2 b‘) L!. )+ ﬂ_ [(25)‘_7_(%) v
[H 0-"1-')35!-5‘ g;o.-l- b » o*-2ab+ b= (01b)"

(.3:“. _ (25‘ ag)

1.

——

Conkinue an lask PORE 'L(l)-ﬁ Fﬁ-«i A

gt
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’ MATHEMATICS (FEDERAL BUARD)
q exercise: 4 ]  oues: P

| %-J('::: 2:':31) QU
= (2*+ 2ny ,..‘:») qz4
" [(u)‘+1(x)(3)+(y) y (3;’ . a2+ 20b + b? :(@"+ b)Y
- (x+y) - (323 @ bi- (arB)(o—b)

- [‘.jﬂ]'“’"”“’"“) (sz=)] s

FOR EI Jﬂ'i'i.J Cl
b'l)-%

ﬁmmw en: |

- [(20.+ 2b ) - 9¢’

(an_' %t) - (36) - (o> b’)- (.,_b)(,,_ A
=[(ao+ab*) + (30)] [+ 28) - 3c |

-
I =
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MATHEMATICS (FEDERAL BOARD)

CLASS : EXERCISE: Q)  OQues: P

Find The fockore of:
. lba% - (cY-2c2d +d>)

. l&-‘:i:n[(c‘) 2 (e2)(d) +(@’]

. o 20b+b*= (a- b)*

(2x+ 7—3’) ———
(22 297) + 39%) (2 2'3‘5 &

w
1 \%&‘

~ For More Notes, MCQs, Online MCQs Test Pleose visit 2 AdamjeeCoaching.Blogsp

— —
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MATHEMATICS (FEDERAL BOARD]
Lass: 9 exercise: Y. Ques: P

; l‘_q;—sl-lu-ﬁ}fl—l

- ll_ q.‘.*q 7 23_.' (- 2(1)(2) +{_:;LJ_

_ 2> Yy —(y*+ 7'9"")

-{tndﬂlljl Va0 O ;

- “or More Notes, MCQs. Online MCQs Test Please visit = AdamjeeCoaching.Blogspot «
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MATHEMATICS (FEDERAL BOARD)
CLASS: EXERCISE: Ig.] Ques: EB

Feetorize :

i (SIE'E )“-(‘J?
i (r:ﬁ’-'(rz)‘ e
. (fab + 1) (Jab - )

JOIN

. a*- b*=(ot b)(ﬁ'b* E
I

For More Notes, MCQs, Online MCQs Test Please visit = AdamjeeCoaching.Blogspot.com
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MATHEMATICS (FEDERAL BOARD)
cLass: 9 EXERCISE : | gues: 8

1

€ar More Notes, MCQs. Online MCQs Test Please visit < AdomjeeCoaching.Blogspot.com
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MATHEMATICS (FEDERAL BOARD)

Lass: 9 EXERCISE : o2 QUES : EN"P"S:
Example 1: TYPE I:
Factvization: aY:a*b* +b"
Solution:

=a"falb,"' b'.

VSRR WY —

= a"l' O’bz‘f b" "an’-ba-a'bl fj'}hii(ozz(bz%( Z
v, 20°b" +b’ -a’b” OOl

kS 2>
+ (b’) .]" a; l;aq.hbi'ba** b)aL

3
|
l = (a-‘ i lb’)’-— Yo>b* )
L (e2+20)- (2ab)” ,,,,,3 - fp+b)le-b)
" _ (02428 + 2ab) (0%+2b°-20b)

= (:ﬂ-:-f”b 4 15’) (a’-— Qob + 35)

* For More Notes. MCQs. Online MCOs Test Please visit < AdomjeeCooching.Blogspot
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MATHEMATICS (FEDERAL BOARD)
se q exercise : 1.2 QUES : E'W’e-‘ ;

Example 3:
Ecbﬁ':eh: x4+ 241

v _ $:2
| S PR : v (-4-"}‘+;*.'x'”.';(l)+ (1) |
>Vl + wM_2 w S+t 4]

" &_S 2y -t-l)-' e A/

[(ﬂhl o (' - (:* b)"

o+
- -x_ll

(aFﬂ ("3%
B

'r More Notes, MCQs, Online MCQs Test Pleose visit 2> Adcm;eetucching.B!oqspa' om
| ER——————
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Lass: 9 EXERCISE : l‘l
TYPE I :

Example -
F-nluﬂze 9y +73+|2-

sv-r":j L;
=y +39 +4y
”,ﬂlffi

__FOR

for More Notes, MCQs, Online MCQs Test Pleose visit > hdn:-njeeCﬂu:h];;.Blnqanm com :
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MATHEMATICS (FEDERAL BOARD)

ass:  q exercise: .2 oues:  Examples: |
Type I : ax*+ bx+c a#0 ]

Example. 4 : L %
Fachorize 10x>- 9%y + 6y> b 16 a0
Selution: 16

-lon’~ 19xy + 69 e t?

- loxt '515 "l?'ﬂ * 6“

.5 3y) - 29 (2x~3y)

| - A 23)

. FOR

ME‘HLHS

. Sol-hon ?
oyt '0’“' e

_ 2 (21‘* 5) » '
. (2m+ 5) (’-”'*"

| I

“-or More Notes, MCQs. Online MCQs Test Pleose visit = AdomjeeCooching. -;134 pot.co
L —
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MATHEMATICS (FEDERAL BOARD)

 ciass: q EXercISE: H.2 ques: 9
1. Faclorize the leﬂﬁaz

i a¥Y+arx* v uM %
Colutvon: . oo 20btb= (o bb)
= (a9 o’x* + %Y 4 a2’ ot a2 ""O’ﬂja"'? >

2 (A7) +&A :
» (a"-.- 20>y nY)- a*x st

0*)"s (a2 () + (>?)* - a*x* o20bibltD)N

¢ More Notes, MCOs. Online MCQs Test Pleose visit = AdomjeeCoaching.Blogspot.con
e
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MATHEMATICS (FEDERAL BOARD)

wss: q EXERCISE: 4.2 ques: 1

| l_l_'ilcbn‘ze. &e 'ﬁ“ﬂiﬂ’:

ii. 084+ aVaely 2?® (04) "+ 5 (@)pd+(]

= ::t“;?';" +nd *g_"g"-a"u." , Sk

= 8)... a¥x |

(a8 a2+ ™

For More Notes, MCOs. Online MCQs Test Pleose visit = Acarn;eeCdnc}‘nng.alagsum.cnm
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MATHEMATICS (FEDERAL BOARD)
cass: 9 EXERCISE: 3.2 QuES: 2

2_ factovize :
- 4Y222-8n -2
&hﬁ”z " - |z =01
- 2 (202* - Yn- ) sf'

7

= 2(2x*-Tn+32n -l) .
s 11(31(— l) +1 (3‘1")]

Ayt

or More Notes, MCQs. Online MCOs Test Plegse visit - AdomjeeCoaching.Blogspot.com
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MATHEMATICS [FEDERAL BOARD)
LASS : 3 EXERCISE: @9  oues: 2

wi. Qy2 -l-ll zY_8y?
' Sbluﬁona

= g 21y 2"

- 3 (,q- a'Z'l) |

l or More Notes, MCQs, Online MCQs Test Pleose visit = Ado ymjeeCooching.Blogspot.con -
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MATHEMATICS (FEDERAL BOARD)
wss: 9 EXERCISE: §.2 QUES: &

.g_

Faclorize :

Ci- wM+uy?

Solution - 2
= ‘-l"",‘-l'q"‘ ’l‘"’ At + 4yt

J -
T h ey sug) -y 0 iey

) 21 ) + (29) - 4G 20

c"‘r:-##i‘zl{

" For More Notes. MCQs, Online MCQs Test Please visit = AdomjeeCooching.Blogspot.com
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MATHEMATICS (SINDH BOARD)

j CHAPTER | EXERCISE 4.2

L ———

- (at)*s (26)+ 'mt‘"o,a;_ei;(%)ly.;f)*(ag '

-(aB)+ 2(a8) (as)*(as)'.. loot? oot
24f*; 25)* - loot™ |

( (at‘) +25)% - (lot)> e &

'ﬁi 2, a¢ + 1Ot (2**2'

% ot + 23 =
iv. LE'QB
e

_ (aea1-28) (2
_ (at>-at+!) (at

For More Notes, MCQs, Online MCQs Test Please visit < AdamjeeCoaching.Blogspot.com
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MATHEMATICS (SINDH BOARD)

cass| 9 CHAPTER | < EXERCISE

e ?‘: T B%C—_{?_.’Q,ﬂ

For More Notes, MCQs, Online MCQs Test Please visit - AdomjeeCoaching.Blogspot.com




Subscribe My Channel = youtube.com/c/AdomjeeCoachingChannel

MATHEMATICS (SINDH BOARD)

CHAPTER EXERCISE

infy

For More Notes, MCQs, Online MCQs Test Please visit = AdomjeeCoaching.Blogspot.com
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MATHEMATICS (SINDH BOARD)

CLASS 1 CHAPTER q EXERCISE y.2

m—:M 'ﬂ'lb ‘Mﬂ:
i 121%9 + x> +2 —> hraf foclors
Solution: o 58 o

= 20 %Y + N @ 121 2 x2 =29221

= 120%% 4+ Na* -2 G 23 %‘r%ilr

= 120n% +22>— x*-2 f

- M (1x® +2) -1 (11x'+2) O

1]
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MATHEMATICS (SINDH BOARD)
EXERCISE .2

cass| q CHAPTER | Y

@: Rm into '&’M:
m. x:‘ + 122 + 5 Latx b - 20%"

Solution :
= Yx*+ 122 +5
. Yu*s 10T +225

- 2% (22+5) 4] (2""'5)

- 2% (2%+5) (2a+l)

v.

For More Notes, MCQs, Online MCQs Test Please visit < AdomjeeCoaching.Blogspot.com
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MATHEMATICS (SINDH BOARD)

9 CHAPTER | I EXERCISE .2

Resolve info factors )

8' | 2 '6 Y " (,—j. N
5":"'9;361 v = 0)+2 (99 (gt |149)
= Blxn¥+367%°+ 6y + 36=Y"- 36w
gl T2y 1oy -36%y”

- (@) r219g) + ) ﬁf{uw‘- eb,
- [ﬁ-"’ ‘lr)g lﬂ-'l'b){ 'b)

.ﬂli‘é?.'j;- 6y
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MATHEMATICS (SINDH BOARD)

| [cssT 9 CHAPTER | EXERCISE y.2
- 1/Q6: Resolve i factors :
-n.l‘_ .'_7 "@8 qu—g_ F‘Jf
g-hﬁgn: 248

- yi-7y-8 (5
= 8‘-— 83"‘" 31"'8

- 7 (y- 8‘)+l I:)i*-s)
- (y=28)|y=™
:l’ (4>-8)

iv.

lo2b2= [6¢

=40 )

-(lsa’-— 21b*) (2

. 16a" -8

For More Notes, MCQs, Online MCQs Test Please visit & AdamjeeCoaching.Blogspot.com




'Chs : q Exercice - 4.3 Emmples 2
Tyre v
Example :1
FoS:uﬂze : (%2+5x+y) (n?+ 5%+ 6)-120
ution
. (x*+ 5x+ W)+ Bat G)— 120

let =*+52 =5, we hoaue
. (t +4)(£+6) -120 "
W0 - - A6L
- t2+6t+Ut+ay-120 S¥ a2
_t*fuot % 16 ﬁ
a6 (8yfactorizing) r%

(,(tns) '
¢) (t-%)
+l6




. Class =9 Exercise : 4.3 Examples :
Example : 2
Faclorize (% +1)(2%+2)(x+3) (x+4) —15
Solubion :
- Guan)(x+2)(x+3) (+4)-15

= (n4D)(xY) (212) (2+3) -15

- (C+ Yt u) (x*+3x42246) 15
- (2 +5x+Y) (W +52+6) - 15

let »*+5x =1

-(E+4)(t+6) -15
7 yt+ 2y
1t ¢+ 10t +9

q v




c'GSS%q Ew :qta Emm;

-~ Example - 3

Factorize : (2+2)(2-2)(2-3) (x+3) +(-2%%)
Colution -

e (D) s D+ 20) s
= (n*— 1’) (,'h"— 3") — 2n?

(- 4)(n*-9) - 2x2

- WI-qu>-Ynty 36 ~ 22 ~
- 2 — JSxn* 53 b ‘{jé
- WU 20— Za>+36 12{
_— "3 x ""Z)
: Jﬂmia-s
) [
x-*.l"i)(




Class: q Exerase - 4.3 Question - 1

:1 factovize the &M

i (x*-4%-5) (%* - Ux-12) - 144
Solution

—(t‘-llz-s)(v Yx—12) -1uy

Let »>-Ywn = t

= (£-5) (t-12) -4y

= t*>-12¢-St + 60 -1yy

- >~ 13t — 8y

- - 21t+yt -8y ( J?-donzn-.jj ol

= ".'({.‘ II)-H{ (l; 21 24

um::;?) 2 c7
'o’nlhuu) (>
MOREL!

Wy ]




Class: 9 Exercise : 4.3 Questi
QI: Foctorize the {oll ng :

i, (% + 5% +6) (n2+ 5n+l) -3
Solution :

= (‘111-5':;-}6)(1‘-} 5'Jt+‘l)-3
Let t-('l.’*&n.)

= (b+6)(t+u) 3
- £1+|l-|:+6‘|.fa"l -3 l
2 , lot+ 2l |
L: 7t +3t +al (BY )

025
1 (t+ 1}‘
MOREE

N——m—"7

:+ 4

n "

—_—
-
=

—-—
-
=
—
-




Class: 9 Exercise : 4.3 Queshon : 1
Qa: Faclorize dhe .

i, (- 2%¢+3) (% -22+4) - y2
Colution -
= (2>~ 2=+ ?.-) (- 2=+ “) -42

let 2%-2n =L
t1+4t+3ls~rl2-'42

- N s g
= >+ T+E30 . t %62303'0 ‘
. G lO'l: -3t -30 o3 Z| 12
“amg 10) -3 |
. p-t ) (1-3)
= (t+10)

(= -2:(-—3)(




Class - 9 Exeruse : Y.3 Question - 1

Q1 : Factorize the ‘E’M"'B

iv. (%3-8x +U)(x2-8x-Y) , I5
Soluhion -

= (l‘-ﬂnr")(‘l}_’-—_ﬂ_‘l—Q) +15
lelk & - n*-8n
- (t+y) (t-u) +15
_teyf s yt-16 115
= = =1
(AN )y

a’-b? - [0+ b)e-t




‘?""“ 1 Exercice : 4.3 Quedion
.Ql: Faclorize the -follwma:

v. (*+Qx-1)(x*+9%+5) -F
Solution :

- (%2+9x-1) (2>+ 9%+ 5) -F

et £ = 2*+9n
= (£-1) (t+5) -7
-tz*glt t A % 1271
tnutom 2 s
-2t -

o |




Q1: Factovize the following :
vi_ (x‘-S:r.-l-ll)l‘l‘—Sx-l-ﬁ)—-lZo
wb":
~(*-5xn+ ll)('n‘-Su 1+6) -120
let = %>-5%
- (E+u)(t+6) 120
t*+ 5;,-+qt+au - 120 Y7 . -4t

t>; 1ot =96




Class: 9 Exercise : 4.3 Question - 2
-QZ: Fadorize:
ie (e+1)(x+2)(2+3)(2+U)-4g

Solution -
= () (2 +2)[2n+3) (et y)- ye

- ('Jul)(u-fll) (xu)(u-a's)-lw

- (7(.3-} q-u-l-'l.'!'l’)('l’-h;_x_f 2n+ 6) -48

- (w25 4) (w+Sx+6) ~H8
let &= 2*+5%

- (t+6)-48
= llﬁ LUt + Y= L |

—2(t

= =2 1%




Class : 1 Exercice : 4.3 Question : 2

2: Foctovize : ———
Qa (x+ 2) (x+3)(x+U) (2 +5) + 24

" Solukion:
= I‘I:I;T'l +3)(n+ v) (n+%) +24

(242) [x+5) (2 +3) % +y)+24
w24 Cu+2nt | O) ('xlf'le 3l 2) +2Y4

. b+ Ta +10) (>4 Tu 4 12) ¢ 24
Let 2w+ Te=1

- (txlo ('l:'!'ll) +24 »
lot +120 +aY 1*x f-lfff- Jyw
= t" + E'i'l’ "4'-] . =

B
MOREL

\ W




Ror-hiiiendiadii ek
iii - ( ;:i_ls:-:%:?-) (2-u) -99
- (%-1) (x-2) (2-3) (x-4) - 919
. (o) () a-2) () - 77
= (=Ya-n f‘l) (232~ 2n+ 6) -99
. (a=-S+Y) (2~ S +6) -9
et E=2>-Sxn
JOIN

(£+¢) - Q9




Class - 9 . Exercise : 4.3 Question : 2
iv_ (x-sm'r)(z-ﬂ +15
folul-i‘oru - 14
= (-3 )(x-5) (»-T) (»—9) t 15
- (x-3)(x-2)(n-5)(=-T) #5
- ( A2-qn-32+ n) (1."-71- 5-:.+35) +15

= (*=12x+ 17)['13-—la__ut35) 15
Let : =12 =‘-t




ch“: q .. Exerdse : 4.3 Quaiionzz
Q2: Factorize =
v. [e=i) (2-2)(3-3)(%-4) -224
Solution - ¢
e (x-1) (-2) (n-3) (x-4) —224
- (n)[-4) (n-2) (2 -3)-22Y4
= (‘Jl:-'- '-l'l.- xfy) (ﬂ,l_'. 3-&—21,'. 6) _11"

= (A*-5x+y) (n>-5=t6) -22Y

— -

et 2>-5% =1

vih] (t+6). -224




gt e =93 Quedion : 2
QZ- rﬂdon}g,i e ——
- (-3 ")(-u-s) 255

Colution
= (- 2)(1—3)(-._—'{)(1—5) -255%

. (2-2) (%-5)(=-3) (x-4)-25>

("l — b Z'I.-rlo) (1__.'1_31 . '2) _oes
(=72 +10) (R2-Tn+12) - _9855

tet »x>-Tx =0

- (t +0)(£+12)-253
t ot 1120 - -25g
(1 ‘-l'

-
—_
=




Class: 9 Exercice : 4.3
.Q3: Find the Mus of :
7. (%-2)(n-3)(x+2)(n+3) -22*

= (g:l-z) (3t 1)(1.-3)(ﬂ.+3) - 2x*
= (2*~ ?_l) (‘I"-— 33) ~ x>

= (n*-u)(n*- q)-22*

- (9 nr-4* +36 - 22*

= (mv- 135+ 36-22)

- (u;l — ISn* + 36

x9_ 22237+ 36
12)-3(2=12)

%:3

@b )a—b) =
@bX:,‘_)b&




‘Class : 9 Exercise : U.3

Qa: Find the faclors of Queston - 3
- (':t-l)ll-}l)(:u-!)(‘:t—a)-}.}_23
Solution. :

= (=-1) (1#)(-:(-&3)(-1— 3)-3x>- 23 --é'i»;)a(f;}
- (w2 1%) (22-3*) = 3> 23 i
= (>~ 1) (1(."-4) -3x2-23
= '!"-G!.‘_._x._z_l_'_g -3x*- 23

= wI_IYx*y a2y “4 Y (‘:-rg

:; ‘lnmn?fl{xtm




Ch.“ ! q E .
Qz: Find the factors : +3 Question : 3
i - ("t-')("'-"") (%-3)(n+3)+ Ux*
= %'h‘;?:tl)( 3)(+3)
= (x-1) (w+1) (m-3)(n43)* Un*
- [(=17) (%*-3%) + Y= bR
- (-1) (%*-9) +Ux*
A LR

. w1 -1on* ¢+ q + Y27 Ty .2
- Y. 6«*@ 'T_
- =3)-3(x

- PR
MORE!!!




Find fhe factors .‘:

w_ (n-2)(3+2) [x- u) (+4) - Yyxn>
Solution:

- (x—l)(‘lfz)f'( ‘l)(-;uq)_ Y
- (w=22) (*-47) -1y

- ('l "l)('ll" '6) - Iya*

o 'x_“ 162%™ Yn*+6Y - Iyx®
= — 20x* + 64U - 1Yx*

’7("1 3Yn? -ﬁf?

Manzs

la-b)[arb)o>b'




Class: 9 Erercise : U.3
Q}: Finl’ the '&Cb! 0“:

Solutigmn :

W ou

(2= 52)( % 22) + Yx*
- (n*-2S)[n>-Y) + Y2*
2 - —aSn> ¢+ loo +

Qucsfim :3

v_ (2x+5)(2+2) (x-5)(x-2) + Ux*

- (+5)(»+?) (%-5)(%-2) +Y>*
(eS)(1-5) (n+2) (x-2) + 4> pryfacy),

az p2

Y

] -~
oo,
;¥

08~




Clnss: 9 Exercise : U.3 Question - 3
.Q3: End the &bs of :
vii (%2-2-12)(%?*-2- 12) - 22

Solufio : , . 00" AR

= (-1 ) (A2 -12- )

_ (-12) (nr-2:- 12) hos

JOIN




i é'm 9 Exercise - u.y

Ermple : B

- 83 ¢ 1227y + th +y3
Colutionrv: —_—
_ Qud+ 2% ¢b¢+6°¢ +4

L (232) + 12+ ey* + (y)’
_ (2%)%+ 3(2) [3)+3(290%]+ Chi

. (ad+ 3a*b + 3ab

= (2+9)? ﬂ;s

JOIN
F:aﬁgpnh + 3&!’- =3

Em»»ples:

2&‘1!1:3“!

+b3) [a+b)3




: Chss - 9 Etc.mige : Ly Ques‘l"m |
Q1. Faclorize dhe following :
ii b3 + 3b% 4+ 3bc* +cd

S'olu!m )
= b3+ 3b% + 3bc*+ C
)3'!’ 3(b) (c)+3(b)(6)+ (C) + 3a%b + 3a.b"+b3 (ﬂ-l"b)

= (
(b-i-c.)

i 8»3 + Iztaa + 62_31 + 83
g + by

: faﬁﬂﬂiﬂr{ﬁ"la
MOREH!

o llx.’-n-l‘

q
S EYUR3 + sz., y 324 L

6
()’ + 3 (40" ?-,5) + 3%

¢ Q3+

Ll'x. +--)3




" Class- 9 Exercise : U.4 foniing = 1
Q1= Factorizatian the "’M‘aﬁ
iv. 8x3 +36%* + SUx + 23

-
‘8::.! +36x*+ Sux +27

3
23x® 4+ B6x> + S+ 3 4 (3
3 (20%(3) + 3 (2%) (3) (BJbﬂ = (‘”b)s

3
(22)° + 2 a2+ 3a%b + 30.b* +

(22 +3)?

Ll




. Class - 9 Exercise : 4.y Queshon :1
Q:1 Factorize the bﬂmh.a :

Vi~ %{_ + % x® + Un*+ 23 _%)(x)
Solubion : 2
= 01 4 i%xu, U + 2° }%)(x)

T T_( ) (Q)( ),_ (%)3
AL (g J(n)+3 (L) ) *
) (3) (3 ai» 3a*bBab’s b - fatb)?




_ CIQB- q Exercise - L4y
Q:2 Find the factors of:
- d3 - 6d*c + l2dc? - Q¢3
wdl? = 60!"‘5+ 2dc*> - 8¢3
- (d)® - 3(d ) (e)
= (

- a®-3a*b +32
d ~2¢)°

- (2
3 (d)(;:-?_ o ___( [:2b)3

quon:z

3




Class - 9 Exercise : 4.4 Quedtia
Qa: Find dhe fackors of . n:2
iv. 12523 - 752"3 + |Szu HG

(o (s (y) +3 5 - ()]

X (3 _2a*b+3ab’-

(BZ—U) s

3 2 (& b)




: 2
Exercise bhen -
:['-"' QM

of :
. & .
o« S
gy 216 + 1 2
Wi

) |'8.\
ulion 8 3(‘3"62/%,
(== k)=
22 3
: 3= F
: 6 SHz+;
216 -

Z)
)(——) ’gz
?-3(6)"(Z)+3(6

_ 6 -

2 b -
3ab+3ﬂb
3_
. a




F%muﬂa.: 3
03 + 30%b +3ab*+b? - (a+b)
a® - 3a’b + 3ak’-b® = (O‘Fb)a

JOIN
FOR
MOREL!!




Class: 9 Exercse : 4H-S Examples:

TypPE VI : a3 + b3

i a3+ ba (n_-fbg —ab+b*
3 = (a-b (a*-l-ab-r

Example 1-

Faclovize 823 +27

Sohﬂ;onz?
Qo ® + 2 ‘
(11.)3 - f3) - a3 ¢’z S’Hb)(a i b)

x) - (21)(3)-!-(3 )2

54%, (22)> — (Uz _
S (3%- Uz)[BO%
-y (Bx-lz) (T I2HETE




Class2 ¢ Exercice : 4.5 Question : 1
Q1: Foclovize the 'rlllomhna;

- 23+ 833 a-%
Solution: b-*9
= a3 + 8y?
= (")3 * (2%)3 . [03.,. - Q-I-b)(a O-l'?'"b)
(2 29) [ ()= (2 +(29)%

. (% +2Y) (%2-2134- Hv

JOIN
- lhge
MARELH .-

_o*(a2 + b’ = & ’
%a? ) (o0 b
o [farb)fer- @ O)r ()] (@ )
5 G (o+b)(a°'.-ab+b) (at-a®b’ +bf)




Class : 9 Exercise : H-5 Queskion -1 -
Q1: Faclorize the following:

Gi. a +| o0
Solubion: b :
- (O-ZJ T+ (I) (03+b3)‘@+b)(a9‘—01"'%

(@) [(@)- () (1) + (1]

_fo2+l) (@' -7+ )

JOIN

- §BR =
MEREM: |
\s@%: 1

b (ab+9)




C :
lass - 4 Exerctse : U5 Question -1

Q1: Faclorize the Followmy
ﬂ,!b; = Z?b‘

V.
Solulion: o
- a®b? +27b° o
] (ab)a e (Bb;_)S a:ab;

= (ab-l- 3b°’)[(ab)n— (ﬂab ) (3
= (ab+ 3p?) (a*b°- 30.b° 128
¥ L<3b




Class: 9 Exerase - U.S Question -1

Q-’,: Factorize He o
Howing -
vii. 27+ a39462 oy
QD'(!";QQ.: a,_,w}
B (xa)a & (xg,_za)a b:xﬂ?'zB
sad+ b= a+b)(ﬂa-ﬂb"'bi)

3
(0 22 ()= o8 (22 4 (w23
i ('&3 . ?(3"23) [(,xb__ é(.q H:.zs) + xaguzé

) (13 +%|da.z3) (%6_ x'*jzz5 », ‘,x,:-:_j

‘1‘25)




Class : 9 Exercise : 4.5 Queshion:2
Q)_: R"d the ‘BC'M 0"
i- 23 - 8y3 »
an= a'_ly
- (- 2% e
= (%)3 - (25)3 - ag‘-bag(

(- 29)[00% (0 (29) * 29)]
= (x-2y)(n*+2XY " qH")

=







 Class :9 Exercise : 4.5 Queshion : 2
:2 Find +the faclors of: Y . oy
v. x%_ 6y Y e
6y i 13 &
So lukion : 4l% >
q r

‘&

(-5l
JOIN

Ll ;;z. w“t
) [ ) ol

)

35'-4- l +!6
E e




wi. 2% - 8y¢
3
go':ﬁ'w a:3 , b=29
- 3% _ Ay’ *

(529 (2P
15 . 291) ('}z* %’*..- uau)
JoiN -




divided by -2 :

Soldm :

()= 2*=3% +Y x-i &
p(z;- 23 (2) + ¢ i
P(2) = "-i 6 +4

P(2) - 8-6

P(2) - 2

-

JOIN
cranfO R

value oF




- Class : 1 Exercise : U.6 ‘Example -1

Example 1: Determine whelher »x+2 is o
factor of 34+ 9 x* + 3x-4 OF not; :
Selukon : 2
. 2 * 4 3x-Y
Plx) = 2>+ %.'x, + 3 @ ’
Y Q -.—..P(CL) a A =O

i = "2.
p(-2) = (-2)*+ L(-2% 342~ 4
=2y H—6—4
PGtz
P( g + 4 (W)=—6-Y
Pgﬁ[“ﬂ - l'éz—-é

Pl-2) « -18418

p o ot
Ewnﬁnﬁbzlumm w
) i LA

(o) = XT=H> - D {1 =

ER3Y= -27-9 4 ¢
R s "'36‘\' 36

R- O
A+3

rs a '_Fsc‘{'DU O'F P(’?L)




" Class - 9 Exercise - y.6 ngsl*onzi
Qfl: Fad the remainder b’ using remamder
theoretm  when :
. 23— 6>+ e -8 T divided ba ('Jr.-l)
muﬁmvz
5;%,-] =0
=> 'x:.i 3 6 ) " g
) =2 6%+ 1A~
Ig{(l;-.- (1)%6!:)*4- ner) -8
p1) = | ~6(1)+ 11-8
P(‘): J-—é-l-”"g

- 14
udIR

- ()

ﬁB m 5 P 70
i ‘R.E+ 2>+ x +8
MOREN!

HENE

P=1)= (-1)%+ 6 (1)
pe=1) - -1+ 6 (1)
P(-'): —I'fé"'“
p(-1) - 12+
i
Qmiyd.tﬂ‘ = 2¢




Class- 9 Exereise : U-6 Queskon - 1
Ql: Find +he vemainder bll uting The remainder
heorewn whemn :
i - 3_x*-2 3 -
n 8:,.].,:. 6+ YO ic divided ba (2 2.)
> x-2 =0
= A=
me):%g’-'x.’-.?G + 4O

P(2) = (2)°- (2)*-26+10
P(2) - 8- y-26+ 4o
P(2)- 48-30

Pﬁlﬁl“l" Thws  7Te
v Ig_ ‘ rYx -y
o W =gg
NzgSP
P@)- (2> 52

P2) .-3-3(4)-&
p("}-): "3"",2 -3

P(-2)- - 42
Q = --sz
Tws  gemoinder s -Y2 s




Cless: 9 Exercise : 4.6 qnlﬂamtl
QI_ Fnd the remairder ba using the rernainde
theoremn when :
Vo (24-1)3 26 (3+Uy)-9 5 divided by

ion: (29+)
2 23-!-" =0
= HU.-. ..
o L

X (3 *’ 6( :f) =
ﬁ{,& [A- ,)) P e[(zm 1))-1

*+6 (3- 2) C]
d}ﬂ([ )? +60)




Class-9 Exercise. = U.6 Gestion - 1
q_‘.l Fnd the l’mmler by using e remainder
Wi _ (23."_ - 3" b -10 W divid bu
; u."?&n,: (2 y- l)

2 8 | =0
=> 33 ;
-]
pﬂ &y*") -6 (3-4 )-ID

.L) (z{J-)+l)3 6[3 H’(#)] b
(L) -




Cless: 9 Euereie s 4.6 Queshon:2
Q:2 Find the ~alze of m. i ply)-
"'33" Uy + 3y-Y and (Y) = 93"'3*”‘
lenmddm suirne 350ma.ender whem
s v =3):
Sc:vluf'icwu:lba d
Ply) = ‘mﬂa ¥ HH’-+-3H—'—I - Q)

Vi) = 42 - 4grm —O
PlY) = ¥ (y)

G Yy) - 'dé— 14

y(3) = (3"
Y(3) = 27 - 14 T

;11(:) ar{fp:*:'z? equation Pl2) anA)
. 2Tm + Yl = '_S-"' mn
5> dlm-m = IS-L”

" 5[]
w28 [m--1]
at &"




 Class - 9 Exercice : U-6  Quekon:3
Q3: If Jhe polynomial Yx- 721 6x-3k
is MC-"U diwitible b’ fI#‘Z), find
the valuwe of K,
Solution :
P(n) = Y2 - Ta* + 6% -3K,
= w+ad =0
> U="a
p(-2) = U (-2 -7 (-2)*+£(-2)=3K
PLa) - U(-8)-T (4)-13-38%
p(__a')g - 32- 38*’2"‘3&




-‘ C|¢$S' 9 6”&1 ""-6 Q:u#.‘om'{ _
Q:ll‘: Fnd the valee 0". r, if 13*2)
is a fackor of the pelyromiot
.- ""3 - Yr2,
Solulion. - 2
Ply) = 3y~ Urg ="




Class: 9 Cxercice : U.7 Examples:
E!mplc 1
Divide the polynomial Ppx) - 22 3x%5x+7
b’ '1",) "Sin? Isnfbe-f-ic ivision :
s
P) = u3- 3>+ 5+ F
Hewe -] =0
w=1 (1 15 o muttcplier)
UQ'm? §3n+hch divisien me.'l‘hodz
| I =3 5 &t




-. Clm N emﬁgg . l'-7 EMMP’GS‘
Example 1 Find quotient emd remainder
whewn :
p'l) = 7('."_ '2"‘3 3 5013— 8"1-’- yq
s diwided ba o Q‘HEM F’lﬁwa!
(}t—s) :
;(':)‘:o:“: 12%3 +50%*— 84 + 49
and Imeor polgmmia.ﬂ s % —§

x -5 =0 -
:’ 2 =S (5 fs @ 'mu’-hplrei”>




~ Class - 9 Exercise - 4.7 Examples :
Gomple : 2. For what value of m,

1 '« a zero of the po!anomial
P() - 23- man2s2—|

S’oluﬁoqv: "

pla) » %°= Mmx" + % =]

Heny, He mubtipliex 75 |

Using %Mc doiision method -




‘cl.mq Cxercice : Y47 Queshion -1
1: By Wk thetic divicion method to
Q dzvideha*lb:’nﬁﬂowiq palammmh and
ako find their quokient ag: rem;?md!":
. opw)s x3-nt+a-1 n—
Solufion, - .

» X-| =0
o=l (Hore mubtpler 55 1)
By using synthehc divisier :=

111 -1 1 &

L O
0

E/p) 1 +.0x
1Y = W2QL

M Qﬁﬁ!l‘m? ().
\.—2




Class: 9 Exneruse: 4.3 Queskion - 1
Q:1 () P() . 23- n>-2x-1 by 2+l

SO'II"M *

> A+l =0
S we-l (Hore oubkpler i -1)

B{j USWﬂ mﬂnﬂu}i‘c, division me\"ﬁa';‘
&) [ -1 o -

-l s 4

! | -2 1 ~ 2. = Remaindles
Yn) = IH*=2x+1




Cless: Q Cxercise : Y. 7 Queskion : 1
Q1(v) - P(x) = 23 4 62>~ 11 - & by =-2
go,lt‘im:
> - 9- = O )
s A=2 (Hae mubliplier s 2
u;.hnﬂ %hmc D'U T 2% rre"aod :

2| | & -1l -6

| 2 e

— T g S | Y4 = Remaindes
CV('X).; 7(.21— Qo +§

Joi -~

l -3 3 -IS 4-2 Rermainder
Yn) = 13 =32*+ T = IS

Y(n): A2- 3n*+Tx-1S

Remarder = 29 Dons




h . . o Guestion 1
Q1 (vi) : Plx) - x¥ 3_2 _
Soln)nkm-,) e yn—-1 by (1)

2-1= O
> =1 [(Here mu Hiplier e 1)

BU u&‘.iﬂa QUnW-HC, divisien me,Haool
||| [ =1 1 -4

| +2 l +

— 17 2 I 2 JIe Remaidu,
W""L?‘La*lx"-rx-rl“

Y(x). n'-3x3 + 10X - 32x + 6
Remevinder ~ 29| _@




Class: 9 Exervice - U3 Queskion: 1
Qa(vii) = Plx) - 2®-2"¥+ 2332’ + 62 -6

o> =3 (Here multiplier s 3)
BU Us.ina S’gn-ﬂud-fc, divisiorn methed :-
l - -3 £ =6

3 6 2F B4 g0
I 2 7 18 60 |IFY-Rem

W-fzw” +7x*418% + 60

V()= 293 + 21> +loyx +Y40
Qm}nder:. A3 S \j‘];n_}




Class: 9 Exereise - UF  Quetion:1
Q4(x): Px) = 62" - 7223 4 3002~ 6 U
ol + 270 bu w-<
A-5=0 ‘

T x.S Here S Is a p""“&"i’u“)"
* 'JLQ“ Q l,..ﬁ,u_}ic Dwicler  me Hhod:

< 36 0_72 300 -S64Y 270

30 —2lo + Yso -5'7'_9
T & _qu 90 =1y .-300

N 3_ Yyax* +902 11y
s "300 £




) Class - 9 Exervise = Y. 7 Queskion - 2
Q_:!:For whot walue of k, -2 7 zero of +he
polynomial p(x) . 23+ 2> - 14x -k
Solution : ) i
-9 95 zewo of ‘the poignw‘dv#"’"e
multiplier i -2
P(n) = 2B ¢ - 14— K
divisiem wethod. we phase

P N B U

-2 +2 4ad
12 |ok+aU > Renmirder:




- Class: 9 Cxercise - 4.7 Question : 3
Q3: For what wlue of m, [2-2) be fa
of %3 4+ mu-7x-10.
Solution:
P(x) . 3 + M1’ - 7ot~ 10
x_a Ts ofuter of Pl

S 7(...;=O

2 N TA (Here wultiplier .2)

-7 -0 2 (p4m0)- 4t

y+amwm=7
Yparmy, SOFYR 3. 0m

-34‘37“ jé:_l."_rg_ 2 (' '54-:-1;

o OB st
R -0

NfORE! -




 Class: q Exercice - U7 Ques'ﬁm .y
. Qll: For whal value ofm.{'z-rl) :sa.wb»
of Un3-Tn*+6x-3m .
wukam: 2 »
P(n) - Un>- Tx* + 62- 3w
242 s a focdor of PM)
» A+ 2 = O
o X --3 (Here mulliplier 5-2)
83 (.PM._ divisior  peflod :

-2 14 -7 6 -3m
Jﬂﬂl i

’i:-!. 212 is a fodder of Phr) »m
st betqlnq' do — QY




b ‘Chss-. q & ey
qs. i bt xercise : Y. F Q;eﬂ\bn-.s
: w value of K,-1 % a zero of 1he
polyromial, P(x) = 223 - Ywmn’+ 2 -1
Solution. - '

oM.
Kxj. 23 - Yrmn®yr 2 -1




&
_ Class : q Emd-g,e. - '-l-ﬂ Emphs.-,
e Use Focdor theoremn 1o Fadvorize o
Cubic Fblsnomia.l N

E!ﬁ.l'llﬂe '.:1
Lnd the Jaclors of %3 6x*+ Iz -6

Solution. :
let P(¢) = %x3-62>+1lx—-6 W6 -6

The factors of € ave *1,32,3326 6
P() = (1) 6(1)>+ n(1)-6
P('):'— "‘61".'-6 ':‘T-;r




Cless: 9 Exereice: 4.8 Examples

Example : 2

Lnd the fadders of 3-Un?++6
Solulion. :

let Px)- n3-Ux*+2+6

[ € 48
The faclors of 6 ave *1,22.23,76773°¢C,
Pt n =1 hE » TRE [
P(1)- ()>-4y (1), (1) + 6
PM-1-4y+1+6
P(1)-8-4
p(l)-4Y #0

1 ic wol fackor of Plx)
=
P(- q*1_-q_(:)+; R
Bl

q11 -4
-1 +
L “ t6 Lo~ Remeiraler :

PO = (30t1) (x2S +6)

PG = (%41) (> 22-3x + 6)
P(x) - h”)("(('l'?—)—_%fx—z)]
p‘ﬂ) = ‘Hil) (1-2) ('l-—;)




Class : 9 Exercise : 4.8 que;h'ontj_
Find the faclore by ucing fadlor theorem:
1. 23 -2*+3 -1

Solution -

let P(2)- 3 x2ru-1 —

The factor of 1 ave 1 _

Pud x=1

Px) = 23—2" + -]

P - (ME () + (1)1

P(i)- 1 -1=+1-1

P(.): +2 -

P(n. O (Here 1.is a muttplier)
#ﬁ;lﬂl i< a factor of Ph)‘

Cynthelic |& 5 e
-4 |
v o] e [w]




Class:= % Exercise : 4.8 Question 2
Find The fadurs by using factor Hheorewn .

2 - 7(3 g4 "'""“'x +1 :-_;r"
e AP S

The fachors of 1 ave =1
Puk 2 =-1
P = 23-22— 2+l
Pl-1) = (1)3-(-1)*—(-1) + |
P(-1) = A- Xl X
P( )= 0 (Here -1 s amu&ph\gp)
< o Jatlor of P
ﬁqnﬂ-&hc Divisié»n wm




Class: 9 Exercise - 4.2 | fueskion 3
 Find be faclors bu”'"' %

Solulion :

Let Pfx)- x>~ 6x” r11x -6 k
Te faclor of & are ,,th;_a %
Pk 2 = | >

PU)- (-6 (1) +n(1)-6
P - | _6+l|—6

PO - )1" tiplier
p(l) (Hel't'. mu 14 1)
fachur o f Py

tS“




_.clllts:q Exercce - Y-8

4. %3+ 52
lﬁhkﬁ: Yx-20
)g 23 5, 5EnYx-2
The factors of 20 arve °

$1,22, 1Y, S 210220:

Pl =2

Find the faclore by using factor #.e;;:x

X210 uttel)
— 20 'C..’lo
- Y¥E -0

L 5 p !"52{")
walix® -20
:..io

P(2) - (2)*+5() -y(a)-20 ) 0 )

P(2)-8+ _
P(2)- £+ t:().q} _8);2,20

(Heve 2 is o wultrpllev)




‘ Class - 9 Exercice : 4.8 W:S
Find 1he faclors by using foclor  theorem -
5 a3 > -x-1

S.Olll"bn:

let , Plx). 23 + 27~ 21 T
The facddors of 1 ove 1.

Put =1

P(x) - 23+ =*- -1
-

P(Y) = X .y

PQ) - O* (Heve mulhiphier i< 1)
Gnee, 2-1 s a facter of P(%)

Jeb 1‘“‘? ?wﬂcflc ci?':'!iw dizic wethad:




Class: 9 Exeruse : 4.2
Gnd the factors using
6. N3-22> +QqQx-18

igeolh{l;?:) x3- 2%?

The factors of 128 ave
.Q*Q-rll

M ﬂ:ls (

P(2) - (2)3-2

P(2)- B-Ar there watts

P(2)= O
Here -2 is afacter ©

J -H-e-l-c

+ An-
=1,

2)*:+9(2) - 18

Pl."li

Queckion : 6
factor theovern :

[}
!’2: -3’

q
36 |

{ga%
X =

ng—?

18
1£
i2

12
k)
|

B B f

i

.nm i  nreit-o

o

ORRUY 3 (2) -12




_Chu:‘i Exercize : U.8 Quechion F

Find the faclors by using factor theorem :
F_ 6x3+ Tx*-2-2

&h#m: l::'--:!z
led Plxn)- 63+ Tn*-—x-2

The factors of 2. are t1,12

Pl'l‘ Ne-|

& 6(-1) 7)1 )-2
PE) = 6(-1)°+T(1)-(-1)-2 0 Ui
P 6(-1)+T(el) +1-2 - G6n70 )
P(—-I);-Ga;r}-ftl—?_ ge '8
P(-1) = - N
PE—I)) L0 (ere. N ia wrltipbien)

x+1 it @ fattor of P(%)

J : gH“MQ Muisker. e fod:




Class Exercise : 4.8 Quection : 8
Gind the faclors by us)n% foclor theorem

8._ 13 + 8% 4 19% + 1

e} 3[-,,) 234 8%y 19 +12 :};.' [ng
The faclors of 12 ave T}],%2, uﬂg I-?n-
23,249,262 fﬁjEJLI%J

Pef 2= -1

P(-1) = (-1)2>+8(-N*+ -0+ 2

P(-1). -1+8-19+12

P(-1)- +26-26

P( -0 (llcre ml‘hﬂc‘cr ic -!)
“-:.+' = G lvh-i.-n ﬂ'eda‘)

-




Class: Q Elercjgg - 48 Q.u,;.n .9
Lind the faclors L' using factor theorewm :
9.

253+ 92 + 10x +3 N

Selotion. - 1x3.3
Let  Pf) : 2x* +Qn* +10%+ 3
The factors of 3 are 1,33
Put = -1
Pl-1) = 2(-1)3 +9f )*+ 10(-1) +3
P(-1)=2(-1)+2(1)-10+3
P(-1) - -2;;! }lac:i+3

-1) = , 3
f’}-—l)) 0O (Herve -1 is amul'hpl-er)
Qnce 221 it o focter of P() "

:.i-r-a cpvﬂel-c divition
d lN 3 o




Closs - 9 Exercise : 4.8 Quest ,a

Find +he faclors vimg factor Hheore
10. A3+ 724 :Zx +8.

oh}'” I;ilr_,-{?r_?
Let P"’l) W+ Tu*+Ux+8 U";.,gg
The -ﬁld'ors of 8§ are -}l'-_]':’_" +8
rd I--'

P-1). (-D3+ 7(—-!)"; "y (- r) +8
P(-D= -1 +3F-14y4+8

P(-1)- K+

P(-1) - O (Here multiplier < -1)
M-uw. x+l ico factor of Plu)

J :’uwc diw‘!lo-\- metod

MGB)E l)rx
~ P! i-_(% ‘
:- (x$0) fu )




' Class: 9
Find
11.

Exereice : U-8 Question : 1l
the facles by uvting factor theovem:
23 + Q22+ 262 +2Y

Solution - 20l
let Plxn) . 2% + T+ 26% +2Y4 ":"-‘r';'_‘w
'ht"bl’! of 2y are t1I "'1: umté, %u
+3, 14 +6,18 1n*1‘f JAE m

dx3-2Y4

M z'-’l 12x2 =24
P(-2). (- 3-’4 Q(-2)*+26(-2)+ 24 2UR1 L2
p(—z ) + 36 - €2 +2Yy f‘;" -" :3:’ f2 J L2l

Pl-2)- -66 +66 bt

i (—2) o) (Here -2 is o mul'bpber)
x-fz s a Iocbr P(u)
f wihetic b ,

jm-z




 Class: 9 Exercise : 4.8 Question:12

| Find +1he foclorg Using foctor theprem -
12. 23 4+ 122* 4 Yyx + UB 2
48

So'll‘,‘io'ﬂ:
Let P(x) - %2 312>+ Uun 4+ 48
BN

The factors of UB are 3”1-2’!3’ x2Y4: Y8
1Y, 26, R, P12, 161 209298 oo

Ptl{' N=-2 ,‘/’“‘!-”5..
P(-2) = (-2)® +92(-2)* +u4(-2) sy~ T7° %
P(-2). -8 + Y8 — g8 +4g (exa i

Y 3’~,‘.| -

P(-2) --36 +
P(-2) - O (Heve -2 is nmu"ipUey)

+2 s a facker of Pln):
Hc dwoses = g
2 12 4y : .I




h Cﬁﬁ - q e:lll!ﬂ:‘sg . 5 1 |
‘Example -1 Example : 1
Find the H.C.F of the follewing expressi
by usmg faclorization method - o
. %*+%-20 and 2*+12%+35
&l’ﬂ"‘ﬂ'ﬂ:
We factorize the quen expresson
n* 4 2—20 ond 27 ¢ 12w+ 3S
Trhe factosts ore o= wnder :
n2 42 -20 = 79:;'_'_-;1-‘"!-20 20 » -20x°
= 2¢(%+5)-4 2+ 5) 4 1 T
= (®-u) (x5 o5 3T

J m“t +35- I_:-!__Sx-r"l-r 35




. Class: 9 Exercice : 5.1 Examples
. (w22, (%*-1) and w*+Yx+3
Solution :

We faclorize e
Ge+r1)*, (22-1) and x"-f'-m-r':‘.'»

The factor: ave ox vwder:
(’l*')’ (x+1) (=+1)
n'-] - - I -abi )Hm )m

= (n+1) (x-1)

A&

.x--l

¥ |

?

imr)r
‘-Jr‘.l L NTE!

x*r Y43 = 43z +n+3 @@
. 2w {x+3)rl fx+3) |
- () (2+3
factor n all Hhree explession

)
H.C.F = (=+))

FOR




Class: 9 Exercise: §.| Examples:2
Find the HL.F of the followi expression
a3 — b s a‘— b&
Colubion :

We faclorize the Jollovsmy expression:
a3_p3 , ab. bé&
The factors are &5 wmndler:
a3_b3 . (a-b) (a‘-r ab» b") _ad-b. (a-b)(a%absl
aé_ b& - (a_?-)" _ (l,‘)" s a?-bt t-t-l-b_]p"B)
at- bé. (a2+ 53) (Q?t_ bB) (a3 (asb)(0abt h':
at_b® . (o ti-) (o™ a!»bi‘) (a-b)(a’-y ob+ b‘)

factors in wo expression éae
"-pub-}b‘)
Y8 a3 b g

FOR




Class : 9 Cxereice : 51  Examples: 1

(b) Least Commen Mulliple (LCM)
by factorization wmethod :

L.c.M < Commen factors % Umeemmon faclors .

Example :1
Find the LC.M of 23 _ g and

w:+ H—-6

Solubien :
We fackortze fhe Gﬂumna Crpressiong :

@ [“;'z:-;x; & |
- = %>_ 93
FO n e\

w




Class - 9 Exercige = 5.1 Exavnple :2
- Example : 2
Find +he L-em of n3_] . 23-2x"+2
Solution. :
We hauwe Jo feckerize the -F»"mulma e.upn“:m:
x3_] 3 HE-2x+n

The Jfaclors ane ar :
x3_) . -3 _ Ia s ad- m—*’ﬁﬁ‘ib'

= (<-D (2% el)
x3_ 2n 2% . 2¢ ('x."‘- 23:.-"')
il ""(“‘_f_’;_-_:t—.:t.-rl

- % [ Ge—1)=) (%-1)]

JOIN “L%




 Class: 9 Exeruse : 5.1 Example - 1
IR eclotionship belween HCF and LCM :

Lemx H-CF . P(x) x'-l/(:.) N

Example:1 Find the HCF and L of
the polynomials Plx) and a/(%) given
HCF awnd LCM :
P(x) = X2-5x+6 ond qx)-= x*-9
Solution:
Fnd -ﬁ:e:mf; avz g ruean pobnom-idu
2_2n-3nt e

B-CFelcn = (x> q)(u"_ S‘xf‘) —)

P(xn) x n) = @1—5'1* €) (»>- ?) > e
e Evnvows Thadr the relabion. of HFG
H-C.F xL.c. = Plx) x 9Y(=x)

=>-9) (2> x46) = (»*-9) (A><=+E)
H-C.F xLC-m - P2) xq(x) femte -




" Class : 9 Exercise : 5.1 Examples = 2
- Example : 2

Find the LM of the following

Polynomials by using the formule.:

Plx) - 2>+ IYn+ Y8 and Y(%)= 2*+8%x112

Soluﬁa-n:
"m, -G"t.‘ m .&"‘J _W P‘f 3”..‘ e.ﬁW'.
p(")'l 1‘* "'I‘Il.-i“'{‘ z.lut-_'.% 1-,,:;
= 228wy b + U 3./%#5;’
= x(x_-ta)-o-G (-n_-rﬂ) A l,
- (%x+6)(+8) -
V()= X*+8Bxntl2 i

Jﬂm.tﬁ**ﬁ_—:&!_“- (35

(r6)
L-e-m = (2+6) (2 +8)(n+2) Ans




Cliss:q Exervise - 5.1 Example : 01
Use division wmethod to delermine highed
common faclor and least Common muMiple :
Example : 1

Find the HCF by divicion method of
the following polynomials -
2%3 3 Tu® + U -U and 253+ 922+ NNx+2
Solubon :

: nomsals
1::3?7“;:‘-! IF;:‘.? U 5 293 An’y Nt
I
Doy e =Y Q5 N2

& 5N + Y r:t.'
I “ 22>+ T+
x




Class: 9 Exereise : 51 Example - 2
Example - 2
Find the HCF by division method of Jhe
following  polynomials -
x> 3 2 +1, A*-] and 2*+Yu+3

Solulion -
The given polyramials owve.
2232%4l 3 -1 owmd 229 Yn+ld

I
2 2m | )/2;.,,*3 |

+2%41 2%+
22 +2 2 (x+1)

We +ake Commen fackor 2 fromn 2u42 omd omit H ,we

x> -
The H.C.F of Hie grom fhree polyrow

is ([ -n) \7{-_..,




m:q Exercise : 5.0 E'lamplet
Find L.C.M by Division:

LCm - PRoduct of +wo Polyno mials
HCE of +wo polyromials

Example :
Find the LCM of 23—63>4112-6
and 23-Yx+3 -

Sﬂl:f-ﬁ.:d '_'iu: by actual division.




e, TAULPYY A S-WATS by 2
2%3_.8=+6,

Agoin, 242 -
2% Cpa3 J2u 8nr6 | Z(2x*5x+3)
Z2A> S2% 3w 222 G+ 3
S5x2- 1+ € 2 (22> Sne3)
_q'a; rox -f/. x> jou+ 6
n*
- o (2—|
we fake Commen Jacler X from *x anbdmi"?‘f
(773 33-! 21 —
AT - {ffﬂz.;( 2:9521
2% -3 (=—1)

2
2

= -IZ —2me2
2D

—

L.ceim = wli_glfe (13—‘!11‘3)

Lem . (a2 S +6) (e3—Ure+3) Fhes




JOIN
FOR
MORE®!!




Class: 9 Exercise : 5.1 Exommple -1
Solve rveal Life Poblewmns related +o
H(F onmd LCM:

Example - 1

JOIN
FOR
MORE®!!




Class: 9 Exercice : 5.1 Qm_'..on: 1
Q1- Find +the HCF of the following

expressions by faclorizakon methed

7. 72%a"y52z* and 120%3yb2¢ .

T2 ysz*- 2w2%2 »3x3xx LxXxXxPry*d - =

gy EeE

120 %628 _ 2¢2v2x3x5 2 Ar NaXxYXY* Yy °
Ny XY XZXZxZ xZ ZeZxZ22 3| k

-
} =
o

P-C.F = 2x2x2x 3x X AxAx 1:,:3:3:3 xZx2
3 ¢ 2
H-C.F= Z‘fxy Z .ﬂy




Class: 9 Exercice : 54 Question -4
Q1. Find the HCF of the following expression
I), factorization wmethod -

. 18r3s%E5 | 1200 "S3EE and 210017743
Solution: &
[8r3sVES_ 223030y SxSxSu Sxtabut xbxl al

12009348 - 2x2x273%5 ¢ PXTePx e Sx Sx Sxbxd et xt °| ¢
210 r7s?E3. 2u3x S>T x PehereNenerxr Eti{-"t,{{ Ly
SxSrsx SxCxSxS x 1:_{_—_:! g 3%

Commmen, faclsr = 2.x3 x Pxrx ¥y xSxSxS xtxtxt !
H-C.F = 6r3525° Ay




w (202 8b*) > (UarsUab-2yp?) apnd
(2a2-12ab + 16b*)

. 2a2- gb* A

- 2(a*-4b*)

22 [(a)- (2b)*] | = (R B)rr b)Y b)
=2 ({a+2b Q- Qb)

- Ua2y yob + 2ub*

= 4(a>+ab-6b* 18 2Ok
4 (a*+3ab-2ab-6b’ 2 ‘:C—;o i
4 (o (a+2b)-2b (a +35)] ?ﬁ
4 (a43b)(a-2b) - 2x2 (+35)(~-2b)

I n .y
N
o
r
+
&
o=
(Y




Wi-

w3+ A2l ond X3+ 3274324 |
%,uﬁbﬂ::

. Wlparens |

Let P(w) = 23 +% 2| Dt VI
The factors of lore £ |

Pk »=-I

pl-1) - (=134 (-1)*+ (1) + ]

;((:l}; .-.#JC;J'I-/'*/ Here -1 7S a mulleplier: -
Here 4] is o facks of giver ””5“""“'"'

w3 3 3243 ¢
lef E +3

The Jeetoys of | ¢
M‘ “:""

P-1) = (-1)3+3(-1)
PEN) - A+ 2 F a4

P(-1). © Here multiplien is -1
Here., 2+l ic o fackn L rmeg‘pnsr‘bm.

‘!ll 3 3 7
-1 ~2
2 ] b-&&mﬁ\oﬁf:—

]
PO) = (1) (%2422 + 1)




| :(u).:(‘l-lf) n2qp NN 4]
(3¢) = (2¢40) [ (2+) )4 | (2¢+])
P() = (4! ':(-u)'x-n() )J
P() = (n+ —

€ "moOwn -ﬁlcﬁr =
HC. - (x+1) )

JOIN
FOR
MOREL!!




Class N | Eescice » 53 Qu 2

"3 division wmethod -
i. X*+3x+2 and

3x*-3x-6
&Htjn__iz—
wWedn+2 ?4*3,;;6 :
-2 =12 2w

-2~ 12 ,L“WJ_
- 12 () Agmns JBLY

ZZ&-i
He.F = 2+ |

|5 u‘w‘?stm,r J* L 4l9u+ld

P4 12
+TA+
—REH
HEE= w2+ Txri2 % % %
"1—311—'{14-!2.

: n(at+ g;"l(x-r.?r)

x-l‘-'{) ...3)




- Class: q Exereise : 5.1 Question : 2
Ciii- Y 3-2% 100x-50 and xYs 102 163 250;
Solubion - -225

0 \“fl’r -
30 -

_r & ALST
| ( y P A
![I‘\']Ii- ] 1

JOIN
FOR
MORE®!!




- Class: 9 Exercise : 5. Question : 2
v g -297, 0 3y 297 and %430y + 22y 28
Solution :

WX W Bny a2, L3Ry By
|

1’?‘!}0-159— Al 313 +2ld"
.-Z 22932




Cless -9 Exeves g
& :.ﬂ?'& fackor x Un :3&-4

E'-! _h Lm o‘ h 5 - Camman Tl x Lo o

Nowi express

factorizobien wmethed : " o b’
i- 27a"b5%¢c* ond 2_8 IF
&hﬁ‘mt 8"[!)(: :'
27a%b°c’ - §x§xﬁxgxa:nxaxbx_bx bebxb xglﬁ'%%"

glab’c8- 3x3x3x3x Q¥ bxbxexcxexe x€XC X!
- cxC "
6:"0" :

Uncommo
Common foetor X = 7%  xbx bxb

L.ccm-=
a xbxbxc xC x axaxé

LC-m = 3!‘313!

x 3xCxCRCXC xCxC

3rpxpRYx CxSx MXYX P

Unconmmon foder =
Lactors.

L.c-m - Common Jactor % Uncowrrov

L.C-MN= 2X2%2x 3 xPXPXPXAY X0 Xk Fxrxw Xrar x 13X
X PXP ROy xrRFX .

Lec.m: 1200p9q4 8 Aus

<xs




- Class : 1 Capvriive: & 5.0 Queskon -2

. 214 and 32>-5x+2
&lll“m:

2ix*- 14w = T2 (3x-2) ik

31’—“,#2 = 3:__"-11-—-31+ 2
= %(3%2-2)-1 (3x-2)

= (-1 !3:1-—1
L-C.m - Common -fa)w. r K)Un(ammowfocﬁh

Lem- (3x2) (x-1) P2
Lem= 7x(3x-2) (x—1)

J0I

ive 2 +llxs 28

T
s

= W+ w-3xn A2
py 1(1-&!{)._3(1-1-11)

- (=4 u) (-1.-3)
LC-M = Common Jactor ¥
L.c-m (24 '-l) (-:u 7) (’1-—3) —@3




- Class: 9 &'u‘se‘#'s-'

v 6x2aller3, 20-5n-1l and

- 6+ Ixg+3

= 6x*+qu+2m +3
= 3 (2% +3)+1 (2243)

= (zmra) (32t1)

= 2% —Cx -1
= 2m2- Cx -l

_ a-2x+n-Y

eSS
MOREHN!

Qﬁ’l'bn : 3
3n*-Nx-Y

6 x2x3 . | e
2 2),3




Chss:q &MG#S‘-' Qm#‘g
L ovi- g, w3-y3 amd ¥y w2y2, yy
Solubion :

= M*-y*

= (..)1_ ('j)l' - a*-b2= (a+ b)(ﬂ-"b)

= (2+y) (2-Y)

- w3-y3

- ()3-"(y) . aibi.[a-b)euobil

- (229) (e xy +9)

- 1“*1’3"4-3" A




Chss: q E’MSQ =._- 5_' Q‘&"@n.&q
Fnd 4he Lom by Divisian medhod:

i X*-25% +100 amd 2%*-%—20
fﬂlulio-w:
L.c.m- P(x) x /() > O

H-C-F
1
w-n-20 25x + 100
s>~ - 20
T —24x + 120

= -2Yx+ 120

+
L.c.M = }ﬁ(—#

L.c.m - (n-20) [x-f) (n+ l{) —ﬂ:’l




Class: 9 Exercise w5 Queshon # Y
Fand +the LOm b' Divitiow vnethed:

i 32+ Iyn +8 omd 63+ -2
Solu.llb'n LCM-,_(zmal 0]

21 fﬁ -2 2 (3x*+14=1R)
Jx :28'(* 6 6x’y 282 +16
—27 - 18
=’21“' ”
= 2 !?J 2
q(3x+2) e £ L
flf:t.-f 8 /

0™~ \—\1( 3 |-




Class: 9 Exercise # 5. Quechon : 4
Gind the LCM by Division method
Wi- 2x'-y2_22-2yz amd yz-z:-x*-2nz

Solulvon : Le.M. PEOV(x)
H-C.F

- -y 22 2yZ

==(-y%rz2+2>+ 2%z)

2 (x"--g"-l-'l’*-i-?-"-z)
I




Ay -2
Aty 'I'Z.);z_g’a- 22242 JRS——




Class: 9 Exereice, ¥ 5-1 Ouetien Y
Fnd ihe LC by divisien wehod :

Ve 3%3 4+ 9:2-8Yxn and YL 2Yyn3:322>

Soluliorn: 1em- PE)a(2)
p-Cc-F

= 323+ Gn?-8Yxn

= 3x(x*+32-28)

= Yx¥-24x3+ 322>
- Yx2 (22— bx +8)

L.C.M- 31(}’43:— : 'l ‘
(-t

Lem= 1223 [:l.‘g 2Ax-28 ) (‘la—é_a_fﬂ)
(x-y)




2 +7
»n- —Ent?
e - s
_ 1-.;.‘11(.

e { FH

Le.m= 1223 (:ylr)'{uf‘l)_@-q[(x—l)

=

FOR
MORE®!!




Class- q Exercice # 51 s
" If e HCF of the x*-lhe+2Y amd n=62x+6
is (2-3)-Fnd 7he LCM .
&lu'\‘o-n:

L.ccm:=P(xn A

H.C.F
L.c.m - (22— uns2y ) (2>- 6xt6)

(2-3)

w -8




 Class: 9 Exercise # 5.1 Question : 6

The HCF and Ltm of +wo expressions ave
Gt+3) amd (W34 7224 T2%-1S)> if one
Expression is A2+ B HS - Find  the
Cecond expression.
Solubi®mn:  pyep o 1.c.m - Ist Poly x2nd Rly

2nd Plynomial = HCE xb.cm
Tt Pl

2nd Rlgnomiod = (x+3) (%3+ 7x23 92-1C) , @
M2y Bn+IS
To find the Jocloss of L.:.M:

»+3 Iﬂ.ﬁ-& '7:.:-1-’?2( —1< (1"-* Y-S

(3c+5) (2+3)
= (2¢43)(x—1) >
= 22_2 +3x-3

2nd Polymowsst = 2 +22-3




o Clx-: q Exercise # 54 Queskion: 7
The HCF and LCM of hwo pelynomial of
the Sccomd degree are (3x-2)and Ga’s P>
-4 nw&“m - Gined the produd of fwo
P"‘usrma‘d 8 |
- d:::‘.l: xL.€m = Isl-pbnbﬂb' x 2nd) Bw
Ist x2nd = (3x-2)(3x3+ 72>-Y) |
> 3:::(3::.34-7!’-—") -2( 33 Ta-U)
= a2l 12— 62— 4=+ 8
Produch = AnY 4 1523 1yn*>-122+ 8

JOIN




Class: 9 Exercice # 5.1 Queshion -8
Verify +the relalionchip betueen HCE amd Lem.

i.e: (HCF xLCM) _ P(x) Y(x) for he
polynomial P(t) = X2~ 8% -20 qnd
Wn) . 2>-15%+50
Colvbfigpan,
L.em x H.C.F . P(») (=)
To Gnd LLC.1y) ond H-CE of P(%) and V(!)
we Ffaclorize : e g .« ~20%
P(n) = %2- 8x-20 e L
P() = " 102 +2%-20
Plx) - % (x—10)+2(-10)

P T (1*1) R AT Cox~
I€»% + EO -
V(=) = a- 10 x-Sx +Se I

YROR S

L.cm- tbmn"ut"h' x L

00~ 202
> ‘. (x’- 8?(——2!!1)(1E lfau-(c) = WY = 2323+ Igoe? - 100R- 10
o 21 S0x - 823 copdimue. i TR poge




Now, we Ffnd Rodued of .. ¢ H.CF

t.c.mx H-CF = [x-18) (=+2) (x-<)(2-10)

= (%22 -102 -20) (x X t0x ~Sx + <o)
At = (n2- aﬂ-zﬂ)(‘!:.‘.ls'x_-PCO)
Lo = LIS Box 82 1202%*- Yoox.

y " 20x% 3002 — 1060 |

L.Cwr xHCF =2 —23%%1S0x2-100% - 1000
P(x) x V(%) - (x> Bx-20)(%>-1S2+50)

= nY - 23x3+1SD2>— 100 - toco

H.c.k x L.¢m = P30, V()

JON
FOR
MORE]




Chss:" &msﬁ 3 5.' Q.e:'lﬂ" - q
A Carpenter got Given some free woden

plaks . Some ave 2cvn ard Some ave
12 con . He wants fo cot them so that he
has equal size planks o make vting Hhewn

€asier-. What size plank: <hould »haecnl’
e indo

Soluk ovoid washng anpaQg? ¢
O 2

The H.C.F of 12 ard I8 ore: e
'2:;‘2?3 3| 3
1I8= 2%x3x3

H.C.F - Commen foctors:

01“ 2 x3 2| P
. 6
FOR™




.' Class- 9 Enr&‘se #*# 51 Quection : 10

Train A and B Stops ol Hyderabad o< 10:30ar
Troin A slops every 12 minvtes and tzain B
Stops every U minvtes. When do they both
stop Jogether ?
So lubhion.:

Train A Stops evesy 12 minules :

Trourn B stops ewery 1Y mintet

New, fird L-C.M of N2 ond M :

'1: 53213 %é*
L. mman‘t‘ols x Untovmmrnmon w:m
IJGI x 2x3xF

L.c.m= 8y

TE,GB. -u-o‘ 8
y u.les.
MORE!!!




_ﬁm,p!i He Pollowi P
x_ 2% 7nx12% L nPyn-2 ) xx2-2%n -8 O

—_

x*—16 2 uyxay ) 2x+Buy y 1§
Solubion: n 3 — Vs

>, . St 2= Yur2n- OIES

- Lf_'f_v_-"“' - "t’j.z_" L x g ID
x> w2202y J 2 (n+lz +‘J.) .\

( x (x+4)e3(xsY) | 2 (2 +2)-1(2+2) ) x 2 [%-4)+2(%-4)

(e y)(x-4) x [z-fz)n('&*’») 2 (undeut2)

1(@;;}),(1*_3) + (242) (2-1) ) x _(a-4)(xt+2)
() (n-u) 69:1)' (+2) 2 (YxHho+2)
- 2( z+3 2=l x (x-Y) (2+2)

£ 2 (Ynr+wt2)
) x Ix—"!‘t%l'

(1) (-4




- Class-9q Exercise #52  Evamples :
Basic Operations Oy Algebraic
IFrackons - |
Exaznple # 1 : Simplify :

) X=x-6 , I _

2%*-53x-3  Yx21
Solubiewn, |




2%3-Cu+X-3 (?"l)!"' 0):' 4"

- 2x-3 24('."3 . _—I__
%&(;:);;.n (x)-;) (2241) (22-1)

w.-l-).) + )

(2xtl) @D (2= )

- xe2 !
(22 +1) T @xa) 22-1)

£l+2)(2x:) + |

(2= 1) 23-1)
5 202 2 + U -2+)

* ~1)
JOJN

F x)*— (0)

2 4321

MORE!!




g ‘Clnss:q

Exercize # 5.2

Example & 2 : Simplify -

2 x-Y

HN+2 2x2+ -6
Solubion -
s . _X-Y

x+2 203+n=6
PR S T4 -

X+ 234+ Yx-33%-6
i’ Sl e

22 |x+2)-3(2+2)

s _}Mi
223+ n-6

Examples -




Class:9q Exercise # 5.2 Examples :
Example # 3 : Simplifu :

iii_. ab*y 2a x b~ 6b +9
ab-6+2b-3a b2+ 2b
Solubiown. -

= ab*+ 20- 5 b3~ Gb:_q
ab-6+2b-3a b3+ 2b

= o(bd+2) x bi-3b-3b#d
ab+2b-3a-6 b(b*+2)




Class: 1 Exercise # 5.2

eﬂl'lnple # Y QWFFU 2
v- Pl-q? L 2(p+q)

r*i2rs +5* 3(r+s)s
Solution - ;
= PL"W’- .‘:. 2‘(P+q_
i 2rg +63 3(r+8)s

. Pr)ea)  x 2P+
. trers wrs+s® 3¢ (r-l'i)

Exam ple.s X

. a%-b 'lﬁ*bX“ -+

e -_J”- ?5’3

%




JOIN
FOR
MOREL!!







 Bnplity the following :

-3
+ 6; -+ 7
2 (27¢+ )
&& em) Zoc [ +1)
& __3-— & 614’7
ﬂ-( 1t ') 3 nll'l' ] )'
= 3+ oxt’?

. 3x3(utD + (Ber) 2%t 1)
3% (ant! NCTD)
. Qn+9 + l':.-u.‘msu-qu-‘?
(2n+1) (%!




Mo 3wx-l_ _ Yx-)
W 2n+ ! 11_21_3
Sﬁ'ld'tmt
= _______aﬂ-— J - Ux
x2y 2t wr-2%-3
3x-l (an)*-(!
} Ay I-f‘l'f, 2ed— g,&.rx;_g
L

Za-|

Y
x(m)u(m) “rlx-3)+ (2-3)
-l ;,,




St-m!-l,, the following:

3

N..______ 2 i

golui-i'om.:
- B _3

F

|
T XAt w2 METE)
(n+2) (243) -.( ac.-u)('x-rs& 3 («.-n)(u-n_)
(z+) (x+2) (2 +3)
+ 3(n*2x+ 2%

-p?nu?-ué» 2 xiadntAt3

ont2) (x+3)







Vio 2°-Yx -2 x+9
ey P 2+ |
S.luli&ﬂﬁ , =) A=
. x-yx-al o 2l |t
ahquedn-al o xtd &
i —————— o
A Tarn-F - |

R

MOREA!




- Stmplify #e following :
Vii [__:"._ +x|+2]::[;2‘.—’_3*']

Solukion -
3 | il 2 .|
. [T:l_ - ;—;] T Llaed ]
o [ atma2) +ber1)| [ _}_:lﬂ?‘)
(e+1)(+2) ' (+3)

. ax+bentl | . 7"'*'-3]
Bk

ot +1)(n+2)




3
=( ) (’“'3) X2 e

~ (2] (=
Z°—17 ;'—a-)“-—z

(+-b)

Q’T"s)_(t-a)) (Lwr 3)) T
L (23 - 2
@iﬂlﬂa) .




h_ ‘ ' ,

+ -
Solufion:

- _!-_'_ -.- ' - l T 154 :gxl
x4 B+ 1S a3 THHl2 L b P~
ol W

= A4 St 3ntiS 2> Y3+ 2 % yn-3x-12 «

. N\ \ L&
= ,ﬁ;l:ﬁa‘(ms) x(ot-rll)-r3(x+"l) wf14) =3 [ +Y) e

—t é-

]
"'6:?;’)_' "GT"L)('Q}) Geet) (%-3)

12 12%°
Vi

>
]

&




Cxereice & 5.3 !:'nmplo:: :
e A e o /sty
Find square

= (Q‘fb)l
by faclerization method. : @ 2abe b

oo N

Sﬂ{l‘lx‘-l» 1262y + 381y

Z(7)+ 2 (72 ) (2g) + (39)
- (72+9y)

=[x+ Qy)> - T2+

Exomple 02 :
P




What sheuld be added 4o ="t Ux3410x*+5, So
Whal ¥ be a. perfect squore P
SO'".{!‘M:: |
R.w
o o e 2% 43 | Ju
x> II]-Q- L3+ 10x*4+5 I(_I.J‘-)"'
2 y
+ X ol
I W— — | 7—__@__!:_-2*..
23¢%3 22 LB+ lel-n-s -y
o WP+ U 2 (23c22)
= b CA+ 5 UxPaux?
2!.-'»"1"‘3 | + uz_t l’-‘l-:q ' 33{‘ 3

JOIN




eOL-

" For what volue of oo the 362+ 3
will be e perfect :qm?" %l*ﬂf*z"tm

Solutiew - R.w
. bx 3% Yy T 362"
G'...: L#; 36‘.3 f;?l +)."t"'°.. ma
6x” I('* *
el It R
+3n z + 92" X ' }z -
122¢% 62 + U | T to 2
| + 2 %fm 3x(R2ne3x)
| AN, C36x%rax”




| Exercise # 5.3
* Question # 01:
Find We tquowre ool of fhe aloebraic
expressions by Jaclorizalion me: . ge
. 36x* - 60y + 2542

Solukiovy :
= 362*- 60%Yy » 158’" . a22ab+b - {a.b:
- (62)*- 2 (6x) (53) + (5y)*
- (61 -5 )1

(Gx- 59)° = 6x-5y A=




i Qe+ _;L— + 6
I 5‘;|..:.m6 s . @*12ab4b’ = (0+b)’
= r S —_—

= (3x)*+2( 3:) ( _Ii‘ ® (—,';)"




v 36(3-2%)*-yo(3-2x)y + I6y*
| Solution:
_36(3-22)- 40 (3-2)y + l6y*

4 [9(3-2%)*- 10(3-22) g + 43*]
-4 [q(3_7_,()’~_(30_201)8 + l-lg*]
_ 4y [a(3-2%)- (30y- 20xy)+ uy> ]
- 4 [‘-I(B- 2%)* - 304 + 207y + llgl]
y [a(3-22)+2y (-1S 1 10%+ 29)]
y[a(z-29 +2y (aano::—lb')J

=




v- (;:;?:.{) -'-l(x-..:?) +2
bl

i 1'+_;:_1 —"i('l-—_,'"—-) + 2
" x’+_;.lt_i-'-|(x— J;.)+2 +2-2
- =2 +.Lz—|-l(7l--!i)"'l'




vie (x4 1) (9 Suct 81)
Solutiaon:
_ (user- Y +1) (Ax*- 5ux+81)

- [@o=a(1)+0)][(30>=2(0(9)+@ )
= (a*20b+b" = (e -b)*

= (al— l)l (31—51_)"
= Rau—T? (3,,,___q)¥
. (@x-1) (32-9) Ars

JOIN
FOR
MOREL!!




— (!_i__ 2%+ |)('z_’-— 62.'!"')
Colubion:

= (12_ a!l:-ll)(‘x-z— 61+q)
N [(1)‘_9.(1)(1) +()[)=2a( D (3)+(3)
= a:_hb-& b* = (ﬁ-—b)‘

e (2e-0)* (x—}‘)j'

- Hx—l)";' (=-2)"
- (=) (2-3)




wii_ (03 8 2
| (So[:;:"::ls)(n + T+ |o) (2+5%+6)

- (1‘1-81“5) ('l-’-! e+ '0)(11-9- Sx+6)

= (3%t SIS ) (22 25¢+Sx + 10)
(3["+1x+33t.+6)

. [x (243)€ (1*3)] [’Jt (+2)+ < (x+2)]
[1("&1‘2—)4-3(:*2))

= (x_-r_?-)(xif) (= -l-l)(‘lif) (x..-)_) (1_1_,;3)

’.-.- (_
[
I A
- Ie*
< X <




E-.um-u. # 53

= R Be squere root of the J'on,..,.,.adm

dﬁ'iﬂav- methoel :
V- 'JL‘I+1,,_3+ 2223 2% ¢ | ‘

Solution. : [—
| a
2 et B =
1 WY r2u3+ 303+ 2l s
e 2= -
| 3 +2 %+l x
h‘fx 22-2,’* (2t‘+k)

hljﬂm 7{:}'( | +.-.t




|

ii- 252" 3+ UO=z3 4 262> + 8+l |

R._w
Solution : | [
| | 5: + Y o | | A SR
511 ‘..qo-l.'l + 2602+ 2t / J‘sfn Sa*
r Bt _fﬂ "3 Y2
10> Y :;3)‘5*2‘”" +8erl | et
+ U 34 16 l{n(m’-flht)

10218t + 1 | {‘z:‘;g* " Yon>+ 162
®x x® * 'F M =1
mm“'.*‘

[25x% Yo+ 26 8+ - 5"*""“

Ty

‘rxq‘ha..?Ox + 16 +16= I"(h?z::;)
20 2%+ Y /?g‘




r"-’-—t -!'—u- fq?-_l'.af_"’_l
Gotution: 2 41 , d7_ 1y .y
-"—%-r?-%l': J* 3

x

R .
+

¥
3.'!:-’-1-7 14/, 43— _3+y_




. g2
Vi *_9:‘ + ‘lz‘-r 9—*—3 +2yz +bxz

golwlww
= I--i-?-_}j -t-_!_’q_ +6£Z+13§+QZ"
w
- -|- .l-’/ + 3z J-; %
A I8 1- ny *+5,,z+1gz+¢iz‘ Y
.‘r
2 =T
aney | %% imﬂw'ﬁ e
3
"3 4 1)
S S W :_u—g".ﬂ-l
Ant+2Y ORI




Vi {xz+_L) 8{:. _L),..z

Coludion, -
- (’Q*JV)(-L)*(J“J 8‘!,-;- 8 + 12







| Q abie- 2 3 1

What cheuld be added 4o Ul 4 Ysn3) 172282 +9

Soluticon - i

2%t +2 3 Y
2n> L} l.’-r!'h.‘«rﬂl-!'q
22” x
Yay . Vr IMTa*+ 22+
X ‘ + 13 '+ y &
Yo 42 4 Yy

JOIN r
e
B rrale

q -
MORE!!!

l??-r 2+
_ 16 1 xr 16

R-w

S [0y 22
.4 3

Hn*
2 (4x'ex)

Yx®e 2¢2
946" 4

il

| lf( x*+2%+ ‘l)
16x*+ 82 + 16




Quesbion & U-
What shouu be sublacled fewn b 125 Ya
= 1823- 122>+ (8 Ho make T a p-r-w sqme
SYution - |
3%342%™-3 - [9x® J(usy

313 [1 125, lnt"-lg:.-?-l).‘zfﬂ" 33

+2'x. J /P ltx-ll)th z,.*(sﬁz:f-)

| llltr-l- Y




: Qud-. #S:
L 4 » L]
S T L

Solutibmn R-w
32+ g ’&? Y >
f
3 q%ul +3U e +25 .ex.*“zt
+ 3'.1 _ zszﬁzz)
62’y 2 !r "' MPCPREIAD | oy
34 Ya™ y v

P20 |

h*"*anm .




le-m #* 6:

l;»
o e e e
= O+ Pr+Q will be the perfect
SO'"HM:
- 5 | -
2 s Y +7 Tt = (leery

-
2 P fr8x34+30:3 4P+

—

22 162

I a

30> + P+ qn()t‘-f!!uz




=> 61-—-—(&: 2'?—
=2 _E'X. = q]
Tz, Glubion sk s 3IF A2




Exammple # 03: Age of father s 13 fimes he age
“of hix son.It will be bnla five tivmes after four years.
Fnd _ﬂ-.u'.- presemf oges.

mo;: age of SO is A yeors.

and e of Fobbrw is 132 yyeons.
3 He inen condifiom s

o Bxsy =S(e+y)

= I3%x+Y = S+ 20

> I3x—-Cx - 20-Y

- g::=16




Emwmple # oW: whem I is added 4o L of numbes
. the m:.& is 2.1 of the ertginal numbis.Find the
nwmber ? 3

SO'U-HM:




#— Reduce Equakions tnuveluing’ radicolc +o Simple
Uneos, forwm omd find thenr Slulions:

e & Ol
Colve ﬁu-} n - Bn-}?-
&lwm : I .
| = I3 +7
> T).-n.-t u :Lh bbb Gides
> (; a4 ) = ([3247 )™

> 2+ U - 3+ 7
> 2%x-3n = 7-11
2 —;“4




EmumiESl Class - 9










il dm-Y _ 512

5 q
Colulion :
*> 2xn- = _5_?_-_':_'.2'—
B |

» a(ae-) - 95(5%1)
, 8Bx-16 . abx-60







5 3 " s
CSoludion, -
=2 3n - 2% Yo
Z=+1 -3 5
» 3a)e¥(5) _ 2% (S) + U= (3)
5 5
> 32 +35 _ loxs+ 12n
5 iy, B

2> 3 x ‘314-35) = o +12%
5B




..t"".l 2 - Yy =0

2n-5 x—3 =
Coludion: 15t mehod | 2ued methad

- 6 -_4 .o ., &6_ -_1 -0

2%-S -3 C 2w-€ -3
& Y L 6(w3) - ul22=5) .0
=2 K oo
2% T -3 Gn-€)(n-3)

s G(a-3) = Y amos) | > n "t AR Orpm
6x - 18 = 8n-20 | -2w+ =

=

H 6x-8%=-20+18




5 10
Solutron,:
> Tx-Y _ Twa+l
15 " o

> Tu-F = 3 x (7-'1...'-()

2> 2(7x-Y4) - 3(?:-&'4)
Yo — 8 = 2+ 12







wii- 12%-3 _ 12= +3

12 8
Solubion
» _W2un-3 2%+ 3
12 g
3
s Bx-3 . )% (12%23)
Ly
5> 12%-3 . 3 x (122 +3)

T
> 2(12%-3) = 3 (122+3)

> 9"".""6 = 36‘!+q




wve Ly =-3+.L
& + N 3*2’5

Colubigmn. :
» -T"—‘th n -“3"";;_‘1
o x.-nt(ﬂ) - —3(1)1-7‘-
y 2

> HtlYx | -6+%
y 2

> W+ U= %i_—-—_(_G*'*)
Z\

- JB-I“'! = 2 x (—64-9!.

= N+ Y = =12 +

> BBFax -2
;Mm['z"




_I!"-'-Jz7 ¥ 2m =m-3_

2

Glution, :

L . 2m=- m-3_
= 3 + <=M 5
> 1 22m(3) _2m-3

3 2

c) 2
- 2(I+6M) < 3 (+1m'3)




,, Exercise # 6.1
~Q#2.: When 25 odded 4o o number, the resutt &
halved . the amswer 7s three Himes he original
number . what s e number p
Solutiow :
let o I’C 'Ht ...mlmr-e
When 3C is odded o a number 2+3S.

e vesult w  holved ' w#2C

Jhe amcwer s  3+imes -hiorgmf"“"“‘“
3.

dhem auudima b e ghuen cordition:
+2S _ 24

-




‘$3:lﬂhﬁw o number Ts
. : added Jo 4, the resutf i
equal SQMWIOGM3-R what
s the muwmber ? mes of

the recult Ts  cqual to subbwo-ng (O

fromr 2 Fimes ol it , 22-10

A ding o the given conditor .
= 11‘"‘ - 31-'0

L - ol U
e ]
- 7




Qeu: Bilal s 6 years old tham AU, five yeors from
now the Mo‘: 'ﬁrﬁrﬁ?ﬁ wrill bg‘lO-"omoH
are both. of them .

Soltl.’l"m:

kd'(l)be the o09e of Al s.d Bild is

S yeany old Huer AU (9(+6),

WHier € yeore Ali’'s oge will be a+<
amd Bilol oge will be 2+6+S 5 ks
and the Sumn of Hheiv oges GEYO.

- 1+§+x+"=qo
= ﬂx+'6 -.:qo

=> J 40-16
au

=

> FOR =%
|

[haRfte




Exnervise #* &% 6.1

Q¢5 Gnd  the solubion sed
dﬁe&nm equake

.- 61—1—
Solution,
5 & TE = zmjf'_“"‘"”
.rz._..‘l—-ﬁ 4 Eﬂ"’t‘}i-?_
- 6 =
=» Ix =1 6+ Il o
ngqmt-’ on bott. ) ° T 1 F
= F -7

3l

“olul-f sed is £1% Ans

usdu&on.




.Q;lriz Gnd the Slukon set of the fblbmma equakion
-'J also uui&‘ the amswep -

W ‘_[!}‘T1=3 n_%-.ag

Solution : 2 = ASxY
#J’j———axs @ r
"H-=3+a Veu s : o
=> _-1.—.5 J—-'u‘_‘a=3

g | [B- et
;(e!'j x (S')" ---;55333 )
. Jr-II‘ 9ﬁmms§%LJﬂﬂ~1*‘“ib“3

v [y

>
o

[ r
ST )~ f-’»?'%
> Y

> Us-3%- ;__"’ -5
P EN
-

e
5 Jumec S
g (1)< = 13
e Ir:ég—ﬁ - =367
L IFuz -T-u3
Hemee Lfulion Set s {" 'a} ‘7!_3.‘

[3x-7




Qﬂ*S Mfﬁelo{dmtd'of&c-ﬁwnam
and alo verify the omgwer :

v- [3g+12 _ 3 Veri ficat~om.:

Jﬁl&'t > 2 -3
g 3H+l1 =3

g ISZ:I'B i-&ll =3

4 7

s s |oTs
ID + =

"9531':” 7 ?3 ==
> (133 )= (al)z » -

3 +12 = yul

»




Q"b': Find the solulion ctet of
* ,
and alco “""‘8 e Grewen . e 'rﬂf'mna t’w‘h’u

ve- ;53-50 = Jﬁ Verilicatian : -
= i:':l-_a Ja:,-m = fy-2
::5,.._3’ _Q'J“m ﬁf(ﬂ)‘fﬂ = .rﬁ".l
ex: = Jco-So = Jo~
- Jaca-m)f‘ -(§3)*|=>Jo -To
= afu-!‘o = Yy-2 .
- a%—3=-ai’§o Pomce Solubion cot-ic

> 2uy =+48 125 hns

> §- “




QS Fnd fhe tolehion tef of e foMlocing  equaki
aend ako vemfy fthe Omgwes : . ons
x_ 10 Jx+20 - oD

gﬂl“-‘f@'w:
_'0,‘ X420 = 10O

2
i J'm_o.-j%_"‘
=

e Jx"‘:—o = 'O ’
c!dtf: a
(vht-unn)"L = (1)

% +20 = loo

2 8.0
Bl

->
-
e
>




. Exercise # 6.2 Evoemples :
® Solve the Equatiems.nveluing? absolute values
tn owne vasiable :
e # 01: Fond the colubon set of
|-51-—3| "2 '-'-3

ngﬁ'::?;i -2 .3

=> |5=t_—3 = 5
By 1he debinition
= bx-3 =5

=» 51.-5"‘8




elive
t’;:.;n‘?olukm cekis § F A

Gample # 03: Solve [52-3|-2 .3 wher 2 €W

"’""JP




 Example = ou: Sol -

‘s-l-.a.-':..= = RarSlazsy

.,,%-5' +2 = ?‘

- [2y-5) - 12

= '23-— 5' -5

> By He definifion of modulus » we haue.

» 294y-5=5




Find e Solulion sel of the follomma equakon :
2. ll‘l.-l-' ‘ =6

go'll‘io'i';
i I:r‘l’-":: ;f..,.-;.m of medulus . we have.

»> 2Zu+l =6 or o2%tl=-6

= X = 6-I| - 22 =-6-)
= N = ""'1

O :

Hemce. Colution et Ts 3-% . B% Ans




Find e colubion set of Hhe Following equakion :
ol b2

sblll‘crq, :
597'”‘ debrition of modulus , we have.
= 2% =2 e - 3_% il

2 2% = -IZR'I
=y 25&:-8"'

= 2 = -ﬂ‘ll
Z




51531 -8 - Y , where xEN

SOlu{iﬂm:
2> I52-3]-8_.Y4

le 3| - lna

I5%-3]| =
° By -.Hu..' defirition of wodulve we have
2 52-3 = 12 o w5%-3 =—12

5atl] - U
p T

83 Hhe definition
» S+l _ ) or

7
> B4l = 1]

= 51:77-"
> 2= 376




Yy
Solukion -
,2& +3| = 7-2

ab '2‘!’#3 - 5
By lﬁnr'-on of wmedulus we have.

*-?;c:_ias or .,1_1&_3.-5

- "?_-!Lti,fl _

» .‘lx:l-a <« B5xYy o Vrw+3="5 x
=> 2n+3 =20 = 22¢+3=—20

2 10-3 = 29 = =203
= e = N = "23

=2 1-.—

=2 N = 6
Tus. the Soludion cot is i-:o,efﬂas




‘I I?:.fﬂ'

Soluhrw
2 I?‘x+8| z
deliniten of modulws we house.,
x"g si or =7x+8.-i
2

2
> Tx=-3 g

= T = ;:-.-3-.—!!-2
=> 11:_§-—:—a‘—l 2

- PesB=lE ® 72 o B
=2 T = "l_g- = L8 -'z

= 7".:-%

» T2 =3 -8
2




lo - 2%-3]1 12 =5
\ 5
Solulven -

,2‘!"3 —1225
5

= l.%z:il _ 5412
5
. |2u5-3| - IF
By delinition of modulus we have,
> ’ 2"'5-3 =17 or 2"5'3 = =17

5> 2x-3= 1725 = 2%-3 = ~17 x5




i E'::uun,#&?o Examples :
© Selwing inear inequalities with Aakomal tosgiciemts :

e:01

Md!ﬂowmuwm
Selubion :

.pB‘!-!'(?‘ VQEW
» 3x< 7-1

» 3x< 6 W-%Er_'-s?-,.?',ll.‘--'f

E




‘Fend  the solubion selt of n-N< 9-Yx V€ Z
ond on .

Solulien, :

w 2-1< 9-42
- Y <q -+l
= Bbx £ 20

» 2 < -%ll
= A

Tunts:l the Solulion set is Fxlx&Z” zs'li
§-c."3-2,00234

s

R e e , e E . N, ST T

£ dlol"'qq} 271 0 TGPt > ¢ 7

-




03

Pind the solukion of -6<2xal< . VxEZ.
Riso express it on number Qinme.

Solvhow
o> -6 < 2¢+1 < 1N , Y€ Z
> -6<€ 2%n4]l amd 2xt1< 1)
» —6-1<2% 22 < |1-)
. L % 2 1o

2 -
= ‘J(>-% y T4 9

2 7 &35




TReEfTIteE. #F -3 -

Q#1: Gnd #he solubon sels of The —
Ukes omd represemt numbes %eM neque
i- 22-7726+nx Vxx €EN
galu’iﬂh:
- 2%-1 7 6+
=7 2'!-” > 6"’7
> 2 213

Therefore » Hhe solulion cef ic iultﬁ"‘z?ﬂj

5 14,1S,16,- - §

e

o 5
i } =

v T t + } 4
-2t 2—I5 =6 -5 O [ in

J0|

ii- Tu-6 > u.t +lo.
Sol

T 2x+10

>

5 20 ;5




. g5 o 25-4y Vg4EN
20 lo
Colufion: . v
+5 25 -
- 1 < =5

> Yy+5< 26 (25-4y)
.




v. l2g+81<u. Vg€ R
uhion:
- J2y+€] <1
» By te delinibion of medudus, wse hose

o 24r8< +ll 24+ €< -1
> 2y L N-§ 2y <-1-8
= 294 < 3 23(-4‘1 w, ofs
= u £ ?’5_. y< —l;_' .S

o —_— >
< e ——t—t—tf |y )
9 ] 1=¢ =S -y-3 -2-1 4 2 4 C 4L 7 %




iv- 12x+3]<x+2 , Voo €N
; Solubon:
. MNx+3]| < 12
By He definition of modubus, we have,

» 2243 < %12 or 22 +3 > -&-rl)

» 2x-x<2-3 22 +3 > "x-=2

> <L~ AN+ X 2 -2%3
3x > -5

M the o lubion gef-x >—%

ic {I’t [ __r<x<_'}

JOIN

122k 0 1.

+8 <
> 234 1-8
> Z 3
4 2

—

There fore, the soluliom cet
is $ylye R ""’1"53-2}

<t _'.,' ] - 1 >
-0 -9 € =7 =6 € -4y -3 -2 -~ © 1 3 3




Qu2: AU scored 66 and F2 marks respechively . For
© wo tesk, wWhat 7 the lowest marks he muct? have
scored for his third tect. If am avernge score of
ot leost ¥5 % required fo quelify for a borus prize.
Soludion. :  Lef % be #e marks of Hotvd dect -
s 6 t72 1% > 7§
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MATHEMATICS (SINDH BOARD)

CHAPTER | F EXERCISE | F.3

g'l'\m- Ccale we Cm e
g km 2 & miles .

For More Notes, MCQs, Online MCQs Test Please visit & AdomjeeCooching.Blogspat.com




g Solve a quadialic equakion in gme

WG lﬁ :
@) Method of Hactorizotion .
k) method of Compleling the Square.

@) Method OF faclorizotion:

e:01:
Olve 7. %2 +2%-15-0 #-2%x*5x=12
Solukiore : y gbh.".n:
* %X’32%-15.0 rsond g 2512 =0
= X% 52 -3x -15.0 E;l © | e 2n* gx+3n-12=0 .
» %(x+5)-3(%+5) <0 » 29 [2—~4)+3 (2-U)0 "
- (:h.fa)(u- =0

2 e

fm ;d is
MﬂHE!!!
~ =




e—nfle.“;oz
frm by faclorizetion :‘m‘."‘ll‘;“ Um'-1 =0
Mﬂﬂp:

= I"ml—| =0

= (Zm)" - (')z =0 - 2 2) . -b

® (zm*i)(lm—l).o . (a b)-(ﬂ--fb)(ﬂ )
Either o




(b) Method @f Complebng Squore :
o1:

Clve 2224+8x-1=0

Solr.ﬁ'oﬂw: "
B 3:;:1.:::5; 2 on boli Sides:
> A ' ign _1 - 2

x 2 2
» W+ Yyx -L =0

2 2 -
x -l-‘lx,,i_ ((,M.F:.)
AL [ 4 ]" i bl S .

)

2* + Y +[%]1=J£*[§7 e(%)),

: x‘qu’l“(l)‘ - 1.+ (2)
. () +2(2 (9)1' (2)
FOR

=
o [Rtd) = LS 85D
=
- 2)" -
- u-[-l—)' L
> Nt2 =23
£ =z
x%;’- 3 .30
2 2
x._B_E.z
. 3G-Y 2
Homee - Golokion ®F s g-q;_3ﬁ»“'m} o




Exercice # 8.
Qu1: Solve the Hhllowi quodvatic equations
q*bu factorization '!u;zda o
| A0 '."'" 5'.."‘6 =0

Solujiow: x*x 6 « 62 H
23 Ex+ b =0

W +2n+3% 36 =0
'x.(x.-fl) 13(1 +2)=0
= ('1*3)(“ '1'2.) =0

» (3x+#1)(2%-1) -0

KX 3xel-0
3[: -,
la.".'-

3

Mr oﬂ‘ll*.“




=8 a’-llx +30=0
Colukion
22~ 1l +30 =0

A PR o
> %(x=6)-S(%—6) -0
» (n-5)(%-6) -0

- -0 %-6=0

1:‘5 1’6

Tus, Be Solubon st s §5:6F

- x(x—§)+3("‘5) i

v 3 .,,__.g)-O
2 (x‘. )( Py 3 Z-S-O

:ta-;o wn = .9
Tozs, o lukion oot s %-S’-‘?'}"""‘s




wi- 2x?-4ix +24-: O

Colukon : | o
= 12x2*-Yl=x +2Y4 =0 129 : 233
- 2x2-32%-9%+24 =0 - “’4
o> Un(32-8)-3(3%-8)-0 s o] 56
» (3x-8)(yx-3) =0 '3 %
»> 3n-8 =0 of Y -3 =0 N\

31'-'8

— (u) -

>  (Bn+4)*

) (3‘&-&'{ 'i'q) (3_-11»('

2 (3148)(31),0

3“‘.‘8;0 oR 3‘!:0
3“:-—8 1‘2_




Q#2: Solve each of the follanina by completimg
the sSquoame .
i. W+ 6x+1 =0

Colubiowy : ~ :
s 2+ 62+l =0 [coefberenbolsel
2 13_'_ 6x =~ -1 s [ 5 .-;J:_

Add. *[3]" in both Sides: (g

rFa a
x4 6% + (3)* = -1+(3)

o 2+ 2@ (3)+0) =1+ T et

z
” 41'—3) ’ngi on both Gides:

o=

-
'l

2




i (3:.+2)(u+1) 6-2(x+1)

Solution

(suz)(uz) 6-2(x+1)
w B>+ bu+2%1 Y - 6- 23 —2
o> 3224 En+2%4Y—-6+2n+2:=0

S5 3xn*3 0% tO
D-uldiv'a onn both Sides:

'9&""" '3ﬂ sg_

.;ﬂ"-l-_Q.x..O ¥

W[ c_rf'l.]ol‘l both Sidles: |-
add (S g on both Sides: |




ii- 3x* 8x -1

Solubion, .

2_ = -
7 g:;-d-r;tba '3 en bath Sides:
» BX_8 o . -.L. (.:.‘__E,_!ﬁ.f._m,,;u.f_x.)"
- 'L .G..‘JL‘ "'-é— : /"
M (L) on bt S ()
» X L L) - -1+(3) G

() 2abs b= [.“)‘ "‘-'fﬂi .

- Lx)* a(t)(.'r) + (3Y- 248 (4

_3+l6
ﬁl J




v 2!-.,,_‘-,—!01-0-2'

Solubiowy :
2Yn?= -10% +2I

2Yyx*+10x = 2/
D.I'qba”m L"\ Lides -

= ﬁ_’_-l-l-&‘l:g?
F2 e

R

a2y, ~

4, =7y |
Thus, Slution set i §3,-2 3




v. %&ﬁ;s)-ax =2 (x+3)

. n:

s 2(x>-3)-3x = 2(%+3)
s 2u>6-3n =22+ 6

> 2% 6-3%-2x-6 -0
> 2u*-Swx —12 =0

2" - S = 12
Dwidivg by 2 on LoOides
sz

AP0 O
p}I" _g:'n s
o n-Lxn -6

—

x




- 2x';+u'l—'l .-.o
l so'llf‘bnt
o 2N*+ yx-1=0
2yt =) -
” .;:d-’ ba 2 on beth Sider

=...L
»’%ll-b%: - .c;}’}l

s WHEFInM = { Cpebtigant

()" o % Lotk Sides: B J
> -x} +2n +(1) L +(|2* ﬁ):
5> LO*20001) f(lgs * N
2 @#hb#b - [0+

.ea(x.+l) 3

“Tegh: 2

i) H’*’jn»
\—Ef?*

2
”n= ’I;E

Thus, Hoe colukion et 1€ i-}_-_ri]_'_é',_,__ig}




Q#3. The equakion 3x*+bx-2-0 has 2
- as one of ik wveeols:
i- What 7s e value of b 2

w_ uM_i‘s He ofther voot of Hhe
on »

Colution :

32%*+ bxn -8 =0




Neow, we £irnd b
| s - we sge uean
torndibion. Had s 2 as olge ot s veoot.

16-& b

2x6 = }Qb-rb" b
12+b = J96+b*

on both Si

(2 b1 T8R) e




o Exercise # 8.2 Exomnples :
# Quadretic formule. -

ax*+ bxe+C =0 af0
x._.::bt]b’—llat.
2a
2 Use method of Gompleking e Square o
drive the Quodratic Formulo : o
m -

Wrile the Quodratic equakion in Slamdard
ax® 4 b +¢ =0 @
By dividing'ar on both Sides:

> g
o BE 4B+ 5 - %

>
- x+_2!_'_a 2 [b>uac x --[Eiuac - b
cihe J—T! o, or 7 e
- = b-" -—_k_
- -b-Jb>-Uac

2o o
% = b+ ]brUac - 2o

26




s Use of Quodredic Fovmula 7o Solve

QIM EQGI.-F'”:
Exomple 01: Slve by using quodrelic formula :




ii.. z"..x_'l'l =lo

Pt all +he %‘Jm in above formule. :

= -(1D * Jo)*~4)(1)




| Exerdise - 8.2
Solve the following equakions by using  the
Quedratic forenula .
s 2*-2%x - 15
Colubiow -
> W*- 22 =15
> N-2%-15 =0
Here ., =1 ,b--Q,Cg-—l‘i
By Using Quadratic formuda:
= "b tJb"-— "Qc

By Pulting n:z..n. values in above M"z
x=-(-2) * J(-22ul)5)




& ox* + 19%-15 -0
Solution -

10> 4+ 192 -I5 =0

lh'e. a:lo, b 19 _c._,5

I-—b qOC

-Fc,wmu'r t

B-, el-l-ﬁe values in abowe equakion:
2 -(19) + Jp9)x y(o)(-15)

2 (10)

- -19 * [341+ﬁ







I.I'V_ 21 = 1“3'.3

> 2% = '3’-‘
< 3:-4-21 _q °
Hen. -2, C«-9
Usmab Qudrlh: formule.
+ [b*> Yac
g Pling ot pe_vaoes m shove ek




v- 9x*_ 12x - Y49

Colubion. -
- qﬂ-‘u 'ZH—qq
o 9~ n2+49-0
Here, a=-9 , b=-12 ,Caw
Using quodrotic formule :

x=--b % JbZ Yyac

12 + Jiuy— 1764 |:"-,f'_";"i-j

JBlie
PR

€= 122 18 5 x-1

18
¥
H = + l&E—l
13
=602

x-L(2+305 )
183
3 a A
Hemce, Colution Sef is ﬁ*33'~'§ ,2:3:05 Fh




‘Vl-_ L_xlf %1—1:0

s> w24 3x4Yu - Yyxl =O0xY
> O]

=3 21‘*3!.“" 'O‘F. u.'.
Us: quadvatic tormuls :-
'x‘.f—b + [p>-Yac

Here, a.1’2¢5=3’c‘_q
!:-(3)t - -I‘)
Jﬂl“ 2(2)

A _,l;;‘lf_?_v?.
FOR. 7 |[B:

<MOREL




Vii- 3x* 22%+2 =0

ﬂdbﬁt
3£521+2=0

Now, “!- derdm: formule :-
x-0t [t e

20

Riling all he values in above .ﬁ,m;'u_
x = —(-2) ﬁ,ﬂ-z)’_glg)(z) 2
2(3) 5| 3

I
FOR

x=2

A= I+ ?J—Ss

et is §1eil5, L-T15 2 fns

(Hunu_ . Coludion 3




vii. 6% -%-1-0
Lolution :
"'.a- x—l -D
"anq:a. B:"' >»Ca-l

W;Wﬂ_ﬁhﬁ'c formula :
’.n"b ‘_’_ "... L

20
o=+ fenu(e)el)

2.(6) -




x. "'zz— lOz = 0o

Mﬂna
Y3 10x =0
Hevre. o=y, b=-16 ,c -0

l-—b t IE’;EC

ll-lku' qllz-:n. values in above formub :

x=—-(-10) + h"ﬂ]’-!ﬂ!l)(ﬁ)

2 (u) 76 - J16% 10

%= 10 + Jio0-0







:ﬁ" 11_62 +q -..-.0
mn:
X*- 62 +9 =0
"::-hﬁ.l, b--6 ,Ccz.q n
L3 Quadvats s "
x. 3% t Jb* Yac
2c

By %-1 all #e values in aboue formuls -
x--(-€) * JLe)~4()(9)

2(1)
- 6 * [36-36




Yy x-4

Solulio'n-:'

A _-_L -y
u  x-y
::Jwg"a by (+w)(x-4) m obove N\
i)~ . 1(-Qw )
(X—Q) _@-b)[afb}. -b*
> (e-4) - (%+u) = U(n* u?)

x-—l.() (’l’.-l"-‘) Q(hl lé6




JOIN
FOR
MORE!!!




Exervice #8.3

" Equations Reducible +o Buad form
radi :

ax"+ bx*+c -0, a#0 ’ |
quartic or bi-quadvetic Equelion :

exmple # 01:
Colve +he quarkic E£quakon
L™ - 2502 ax+b2r3c-0
. 2+ 36 -0 Y=t
on - %
AP ay’+ ba +C =0
i o Le woiflen as.




hl-, but, o™
| . = 9=
g; ._’ | I"- 3—-
1’- I‘T | ﬁ:: ,% !/
X «22 ! x a3
| 2

JOIN
FOR
MORE!!!




Efxervise # 8.3

* S»In fquakion of the Jype ap(‘l)b_b_ c
where q,b and C ore reaf nuunb!r:); a0,

where P(x) ic an algebraic expression *

Emmple # 01 -

Colve 8fa+3 -_I - B

Solufion. - foa




()= () > (F3)*= (1)

—2:2 > 222







- 2n’+ 2 = 5%

% 2x*-5x+2:0
"D 2 Yw-w42:0
2 2 (n-2)-| ("')’);oﬁ
2 (2%-1)(%-2) -0
ok

it
n_l-O —
. ] =D
nad
2

JOIN
FOR
MORE!!!

Bus e solubion set

> A2 _2%41=0

i x:._:_x-rl =0

< % (x-))-)(2-4):0
=2 (n-1)(x-1):0

Qiter ot
x__,‘o -n—l.-O
w=1 x=1

s i';."z’ ','}@




Exeruse # 8.3

Solve Jhe Exponewtiol Equations Tn which
the variables Occurs Tn Exponemls :

e:nmple. ® 061 -

g"'vel-. T L TV 8
Solution :
w T PR e

- LT+ 1 7% .50 (spiieg powers)
=17 +3 .50 L

'_gt’a-"ﬂ-“_. -

Iml E urder, ‘
bd




Exercise # 8.3

. Solve the Equations OF the ‘lip (x-a-a)('x.fb)
(x+c) (2 +d) = K, where a+ = c+d and
the (omstant K #O.

smple # 1 - {I-l-l) (I-l- 2) ‘2"‘ 3) (Z-I-'{) Ly

(u l)(x-..z)('l*-?-) (e+u) = 48

3’ Rearram
s (321) (2+y (H:-fl)(u +3)= U

» (X2+ Qu+x+'{)(u!;3:¢+2x,. 6) =Yg
> (’l""g"-*'*l)(xl-. Ex+6) - U L@
I.Ct x. = ml.g-l.&lﬁ. n ean

g+6 -
+6 f"' +D'~| = )




x=<05)? [y u@iz) »-5* lsfunes)
2(1)

2(!)
l:-St zs—t-'g x:FStESﬂ
-

> 3
n--5 111-23 x.-5+ 33
%.-52 {23l '

2
12-5_.";__—{‘5_3

Tus, Solubiom set is §-5ti123 -5+ 33}
-

—

2

JOIN
FOR
MORE!!!







‘2. V- In*~-4 0

Colution -
l‘l = 333.—‘1‘ =0

Thee BEIIIA"‘-""’ o be wriiliemas,
» @2)°-32x2-4=0 -»@
By puthing 3= in equaton(
2> G)l-— 33-—"-_-0 .
= 2 _ 3 __q =O v 2l
> g*-u !3 -4-0 J"‘(fh

> 3(3-q)+ l(,-quo

1) =0
BN
y-4 -0 it
il W




3. 122" -Nx* +2-=-0
Solution -

> 122 - NIx*3+2 =0

s 12(x>)*- x>+ 2-0 wieh
By puﬂma ni=g im alome ‘61"“"1 -\

2> lly -Ma +2-0 /_

» 2 -3 —3 +2 =0 j_*’l

~> 4 (3 ) '(3 -2)=0 32§

—>Qla |¥(3,-1) o




y. 2%x+3 6(7(-!-')

a+ | 2x+3
M i
Ei%?_ * 6‘;;’3)-1 -
e Bt B |

) e’-.-"."'o m
R Rk A o E

2u43= 6-1-06

= l‘*-‘_g
= R -.""'

Tous, e sohchion seb i€ 33572







(O € ) Sl O

: 2
> el _y 2ura) _q

2l o y L2
L 2tle Ylael) > 2mral - q(x*s1)
> 2nr4 - Ux*+Y > 2n24l= q'ﬂl*q

Yx>-2x3U-1:-0 o Q22+ 9-1:=0

=>

2 I*+3=0 5 Jx*4+ 82 -0




_'t
51+l
.'-
i A
-
+
|

& -
z—‘x
'

5. 5™
+ 52
¥
_las
126 " (
Splith~g
power
)

v




. B 5%y s, B*
S':!:-Iiont
-~ 5 z- 5!*3'#!?5.5"
%
- 5_51'-) - 5% 531-125 = (51)‘
e 5x . 3,.“‘“-&-& albove qvlkth:

5 51!2

. ud
) ”:-”-53-0-'25‘ = 3 J:*'%.S'j"“\»r*
82— 1353 -y +12S =0 3‘1‘?‘ )
. Y-y + 135 =0 1%
12< + 1 =126

- §-16y -y +12€=0

= y(y-120)-l(y- =
B
d







9 2 ﬁ)‘-u( ’F_,)*" o0

2

Solution -
() (3m) - ,
Let 33 i pd’ ‘.{-mabouzeq 2

. 2(9)-u(y)>u-o

d
i, Rate
-b + a

Uuua?‘ made
Jh[dz o Bt




= 1+t
= ;(lft.)(! ')
> 'u.‘x.-l-l»lt-
> H-A+l+l =1
s Aizltl

Lo

A= (40 x T
L L
-2
+ L

Mgll i1

—~—

-]

w

:-:(l -i‘)('x-f)

-xr‘lt.-—' x"'-"

2 #_—l ﬂ.l"'l‘

2T t=B ot




oL QR 6.3**" 4| -0

Solutier-
o Q2 _6.3%* +1 -0

» 34x+2) _ ¢ 323! .0
53N _g3%3 1.0 2323 g
o 3°%. 3% _18.3% 4,1 =0
>(3)*.81 - 18.3%+1 =0

Let 3!.3 , Neaw, tubshbule:

ES 3‘81—183“-0 ?\g;; !
gl:’ - 'aa +1=0 ?’Tﬁ

> 3| 1

> 8ly*_9y-Ay +1:0 <l 3

= ‘Ig(tl —l -1 (qﬂ"'l) =0

.,(qmiw-u o




. 2%t 2""““‘_ 20=-0
gdll"iﬂn :
. 25 ¢+ 276 _ap.0

- 2“1"‘2-1. 16"'20:0
2 24 2° _,, o
2% i
N.{— P;ﬁue > NO go'u:”ﬁnt

JOIN
FOR
MORE!!!




2 (t—l)(!i-/g/)?;s)f!-&l) = 820

So'uhh:
- (!.-l)[x-r()(u-tl)(u-lz) = 880

= (x-1)(n+8)(ne+S)(n+2)= 88O
> "+8:t-1-8) (x’,.zg-r.('z + Io) = 820
® (*+72-2) (n>+7%+10) =220 - O
»> Llet a2+ T2 = -r@

? Cubsttuliing ” In equation () B
° 8-8)(3 +10) -880 =0 ki 480
> 3"-”03-88_80—980:0 & )2
D Y*+ 2y -q60 =0

M.a:l.t-'h c=32 WH24+Twn-30.0

x=-(7) ¢ [(7)>- uNI3?) X*410%-3%-30 = O
n(2+10)-3 N +10):0
we-1t ,qug.. 128 (ﬂn)(u_?& oo

2 o
n==1 '-'—Jl -79 0=0 »#-3:=0

———

2 »=-10 =3 _ [FED




Tauss . Solukion seb s g_-m.a,-?tﬁii
2 ]

JOIN
FOR
MORE!!!




1B (e-1) (2 +2)(3x+3) (2+U) = 120
Solu“t'on:
&) Lior Not pocsible :
.,(l-tl)(xu)(x+3)(x+u) = 120
» (te0) (244) (= ¢2)(>¢+3) =120
> (a2 yx sxe q)(1‘+aa+az+ 6) - 120
2> (4 91.-*'()(1!."4- Cx+6) =120
Let s>+Su =}
"(8 "")(H*s)‘ 120 Y., -q6
2 §re6y+ Uy« 24 -120 -0 T

» 4§ -96 =0 &..:
13

r

N*+ x=-16
'l.’+§1t+l6=b
'mf"'ﬁrmq.l’ sS,Cl"

,t,-f:t [p>-Yae ﬂ.(x-r(,)-l(xfb =0
= 20, — (l-l)(ﬂ-rﬁ)aﬁ
- - (5) * JH00) A=lO0 460

]
x=-S * J25-6Y4 @ x--6
2 Taus, he tolubion set is
x.-S2 3% $-StI39,-6,1F A
b & 2 =







..g_ (-2) (x+l) (11-3)(7(._!4) =2y

Colution:
a2y Coa) (e 3) (m-t) = 2%

> él-p-x-lu-?.)(x.'.‘ Yx+3x-12) =24

e 'ﬁ’—'l_z) ("-‘—x-lz) =24 » ® i
let 22-%= Y, Neaw, ¢ 'h!i.-ln-"“"‘
equabion(® -

= (y-2)(g-12) =24
> g*-12y-294+A -aﬂs o
= al__'['z - O




Exercise ¥ 8.4 Examples :
* Radical Equations :

T'IPC ) : .'a-x,-tb - Cx+d
Cxample # Solve J217-2% - =-7

Colution : :
- !::Z; n i :. bo*‘ Sldcs " ooy
= J217-2 3‘ (1"' . (a- b)’- o*-2ab

217-% = X'- 2.(:.)(4)+(4)‘
- 2UF -% = w-1Un+ U]

=)

o WA-Iyx+ +4Q -217 =0 e 168
- :’- 132 -168 =0 (A7
-y -l' |8 -168 =0 2|14
2> )-I-B ('- -

o (21 (euB)-O
e.«-F
:’ 207-2 ,?_f—’?

Iy
iy =
- |:: = 4
=2

Verified




_Epe Gi) f x*rp+m + HL’-O-P""‘" =9

Example # 01 :

Solve - rl 3x 421 — .’x"-Bx-rS -
ﬁluﬁm

é ,'F.S:-}?.l T N -3 n+S =2

Let y=H*-3x in in The Jivem equation, we hasve.
,,Jy-r‘ll *eJyrs -2

- 131’2 = 2 "'Jg-}S
mlni bot4. Sides :

= ([ga21)* . (2+ [ge€)*  @b-a20bab>

2 g2 + ;+2(2)(1 )4(.‘3-&1‘)"
=2 H'l‘ 0 9-}5 Y .
= Y421 . q'l'a-l-l-l Y+

.»;‘4?@!;' A
m REU!

rgf.‘g"‘ = (3
- 9*!‘ 9

-9
S

MH y w»n usla 32.and MM

. >3 =U

> W2_3n-Y-= 0o

s A*-Yx+2-Y -0

> x(x-Y)+I(x-4)=0




» (-4 )(n+!) <0

L X-Y =0 * 2+1=0
x =Y R |
Verificatiomn : Verificotion :
-3t 2 [xizaant- [x23wes 22
Puj‘ w=Y P = -]

ofiralo)l -Japs -2 LJEEsE) e -f)=3E)es =2
']I—G-I?.*" -IK-IZ-PS' =2 "-ll+312! -Jl+3+$ ol

-ph_j-ﬁ_ =2 =)E-—.|¢I « 2
’5"""3:1 05‘3-2
= 1.2

A
w1ty
MORE!!!




Exercise w 84

Glve The -f-"ﬂ.nin’ equotions :

1. X+ Jx+45 = #
S’ohdv‘on:
- 1*11*9-7

> [x+s =T-%
onn bothh Sides:

Squosing
S(J2€)* - (1-%)* . @-b)*. a* 2ab+ b
%45 = (1) 2(7) )+ (2}
w4+S - H9- IYx+
-1y xz+4Yq-n-< -0

'L _,".J
i 'f— 2
i

N :uETE.?

-5 =
s HW+Jle -%

> HH+ Yy - 7
» IS £ 7
Not vevified

Thus, e Solulion cet is fuz J;s




o ([ )* = (8-2)  (a-b)*= a*2ab+b™
= W-2 = (8)"— ).(Rx:)_'.(.l)l

> -2 = 64~ 16w + n*

> 0 =2*-16%+b6U-x+2 N3G - <o
= X' ITx +66 -0 ¢(31

=>»
=
=2
£

X~ -6+ 6b =O
x (%-N)-6(2-N) =0




L J?-—5n + J13-5% - 3/y-2x
Solution :

[3-5x + Ji3-Bx = 3 ‘l- x
Sqn.m:-hﬂ ov both Sides:

(ﬁ?;t fﬁ;_‘!) *. (34y _2:)5
+b)'- a4+ 2ab+

& (Ji‘fi)n(ﬁ:g,,)(g;g.)..(r‘sl)’ (y-2%)

o 1-5%+2 [(7-52)(38-5%) + 13-5= = 36-18x
» 2

-Sw)(13-Cx) — 105w + 20 =~ 36-18%

2 2 ) = 36-18%x+10%-20
- IM - -8

2 J26n"-100¢ Al = -Ux+R %.

1.." !
. (MORR,
> 25x*- j100x +Ql - (g) r

» 28x>— loox +q1 : 6Y ,
» 2002 16> Ox+ bYs - .--_:‘1;"*._5- )
2 Qx> -36x +21 =0 K
2 AQn?-27%-Qun+27 =0
® ‘l-x.('l.-—B) 9(n-3) =0 |
> (A%-q)(n-3) =0 o2 o

ﬂw ql—q =0 1-3‘

u-;r @ =




[1-6c + I35 3l [2sn +inGe -3 [9-2x
Pk 3 =1 Pot»n=3

J1-<0) + f3-50) -3[u-20)  ~[23) [ afiap

» [7-¢ +l3-< .3 o DNTEN rer Y el

>J2+]J8 -307 21-8 + J-2 .37

s B +22 -302 -2[2+F .23

- I3 (1+2) =302 > 2 (241). 3]

2 32 . 32 » 2P 3k
Veribied!. s'r:lv:,g!rﬁ

Toog) Qe et




4 Jx+2 + [n+F - J6x+13
Solution :
E-I-Z + ,'
WM' on b godes
(Ixe2 'l-l-?- = (m) . b+b): 0% 20b+ b
(E_i)‘ +z(53)um)+(r“ ) — 6ut13
> Wt2 +2 [(u42)(24F) + 2T = 6x+13
= 2In+9+2 1;5711»21-"!' = 6%113
2 22 x+ 1Y = 62 +13-2%—9
= 2[4ty - Un+ Y
o llem‘; gz;.il)
iﬁ :(1.,) .

: mm‘...
e - - 10 a
2 3x (z 2)+S‘(x—o)

=2 (3**‘) (1 1) = Py
3x+{ =0

q
-+
-~

SE




V : ki
+ f-’ —= J ! "‘ ' ]
—-— 6'
,Il 2 *.E '."3
M
w+d
r 4
‘l
, *B

Pt TR
I =
_3_.'-11- Ff _g

5.7 - [ 125
M
:‘g)'B Pu}' Aeld
Jil-ﬁ +
247
) =
g ':(:.)ﬂs
+B3

#\,j%—‘ -l-r
~-$+2
]
3 -
2% -l0+13 I
2+
3
= J2¢€




5- J232x436 - [#23x+9 =3
Solution :
Jn3x+36 — Jur-3%49 = 3

let_gn'l.’-sn , put it i akove M:
2 J”*SG - Jy+q =3

> Jy+36 = 31 [y+q bt Sicles:

L ye36 - (3)%+2(3)({5+9) +({574)"
> Y36 -9 +6]y+9 + y+9
» Yt36 :3{-!8!—613!4

= I8 =6J3+‘I
=)




~ Verificakion : Verifecadion :
Iiox 436 = [x23%48 -3  [aZ3x236 - 12329 = 3
Pt m=0 'uf‘ » =3

o Jo=3(0) 136 - Jo23(e}9 =3 = {35 3(3)+36-1323]3)+% = 3
_ Jo-036 - Jo-0+4 3 [9-7+3%- [7-3+9=3

» [36 ~[q =3 o B~ 1T o3
“ B5-—3 =3
= 3-3

Verifed -




6. Jx33%+32 + Jx232+5 -9

Solution -
> Jn2s3x432 + I;l;;g_-rs =9
Lt 8-.'. 1’4-3:.

> Vg3 + ges -9

e i
(ig+3)* - (+- 3+5)

g+32 = (2)-2()(Iy+5) + (lg7)

O s

-86 - - I

. ~la-b): a*-2abeb’

>
2>

=1

D

=




> Jl’-l-'{z-'u -—l‘ :O) 2 4.:_;-:4-,,.
- w(way)-1(xn+Y) =0
= ﬂ.'.'") ('2-')( =Ook 4 --7:(_7_3

0‘; 7(1-‘{-0 . l—'.a-o

Aq=—Y =1
Veribicalion Verilicakion :
J‘Ff?a-r?o?- 'l'r 233§ =9 _‘,.,Fx'a 32432 +F’03ﬂ'§ =9
Pud w--Y Put 2=l

Jeuir3py)e32+ [1gfe3faps- ,Jﬁsp).?u [3p)s =9
'm-nﬂl +Jl£—l!f§ = q ‘ﬁhg,..sz T ‘ﬁ__,s’..s' " |
q . ;

2 J 36

- S hOR
fdi8




- Type &) Jxra. + Jx+p - J2re

Example * Solve : J2+F + J2a2 - [6x+13
Solution :

21 + Jee2 - Jex+13
Suoring M both Qdes : N .
" (E:'l_ + 2 )ls (JZ;T&) = (a+h)’= o*+20b+b |
2 ([x1)*+ 1(57?)([’53: +(Ef_£)"= G +13 |
= X+7 + 25.,—,1._,.2) . 42 = 6213

> 26 +9 +2 [x2 24 7x4l4 = 6x+I13
2 2[4 9x4l¥ = 62-2% +13-9

-

2 2] y =Y +y

= (31-95)(“ 2) o -2 =Q
Eiler 3. ,C-0 2= 2
--r .
-":__% Verificokion:
Verificakion: Jaz7 +J2n2 - Jex+3
e + a2 = J60213 Al st
Pud n= -5 r'_-,.. 1{1-16‘2"‘3
2+17
» '3-5*7 f]?’z ‘.Fg'—'i [+ ‘r—m*a\-__—-—?
. §
<. al <46 -J'/s_q— 3 -l-?. = J2
"r—% "’r"'g 3 $5 .5

=3
. L



- Cxereice & 1-3
-q:itizﬂmd the divem tovwession creph behueen
Heclares amnd Aau'bwmbunmt-
Convercion groph belueen heclares amd Acres:
Scalec: B small cquarves _ 1 hectares alorg -ox
2 Swmall Squarves . 1 acres along y-oway.

. 2 heclares o oacrec.
Solu!im.-
By Reading the above greph as per
given. Scale we coam see
2 hecares = Sacres.




| Exereice # T3
Qu3: Read the ghven conversion gweph behoeen
Celgive and Falwenheit 'lonppvonhrahlatmnrb
Corwecsion ¢veph belween Celeius ond
Fobwemheil - :
Scole: 5 small Squares . 1 Celgive alorng -axis,
5 smal cquaves - 1 Fahrenheil along y-as.
. 2° Celgive to Fabvenheib.
By Rmd.n-a the g'mph ag per vern
ccale we. cam See 2°C = 35.4F




| €xercice & T3
Qul: Read the Eiven Cconversion ghoph Saudi
Riyal owd Rukistomi Rupees (Rs) 4o
" opproximately converd.
orversion gvoph befween Caudi Ri to
Pukistami Rupees (Rs) e
Sole: 5 small Squares = 1 Saudi Rigal along x-axis.
) 5 small sQuares = 30 along 4-astic.
i. 3 Saudi Rigal & Rs. In ook the valve of
Solution : e s e bud




Exerase # 7.3

Qu5: Sobe e following simublameous equations
_ by graphical m;aad
L 3Bx-ll=y & 1-3' 9
; sﬂllll'illh | S.'uﬁbn
_’_‘"-’;j“szI 23{J -32 l0,1|23
Y 90 11/- . - L -
32 I7 llij Usd $l-2 [Y g ;’J! 3J -? ..2|
» 3x-W =Yy -0133=1
» Y=3xn-1 -0 - -9 _3
Pt x--3 = 3: '".-9'
- U=3(-3)"" P,.h.-,;q N\ 5% .
- 20 3" = '...".!- =Y "!9)‘(‘35?
2 O 2
!-3(1
gl:' IF“Bﬂ) (- ‘-’a"’"j :

=0-U

==l
Pt;r' -

=3(1
g=3()u
y=--8
Puhtrl

"
9-'-6 }l
Y-S
P 2=3
9.3(3) -0
g=9-0
qr."z

(!19) -(0, ")
(,y)- (l,'g)

(%>y)-(25°5)

(1)‘_")‘-‘3:' 1)

"MUREHD-(-L ) |
W[ | ‘

Y- L‘J =-2.33

3 (ngg)lfz -2.3:
Pult 71:3
Y - 3_?. i

=

Hence ¢ol. tefic ('x ,9)3 (3’—2)

§2.2%
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ii. 2x-y+5
SoluHan -

-3 -2 10 1 |2 3ﬂ X _‘37;2__;';:-0,_

-n -9 -3 -5-3 -]'1

2% = 31—5
Zu-Ssa
y=2n-5 >0
Mu-"3
y=2(-32)-5
Yy=--6-5

y=- -3 "")
Pu" ="

§z§.‘."3i1m
" "$0n




{0l 1 [HEE N T3
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+ 1
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i i
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. , = 3x5

| Solukion :
X |27V
71—10—3‘5'2 L }L'\
y= 3x-5 -0
Purt x-'ls_
sl
3, -
Put 2="1

= 3("')"5
y:-3-3
-8

Lo d O

"l 0"5

(-2,-1)

=

-2 _|_0T lT 2| SL_"_ 1 ; i i
—_—t "?\171'3 |2,||I|O qg?l
Y | o it il Bl ¥ . G

F & 2 ,. =N
Solubion : -

-2-tlo12 34

ey =M
92 n-%

fut 2 =-2

Yy - (‘1)

(-2.13)
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|
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1+ 3-2-10[123
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Viii - 3x = 5' -2 B 3% + 58 = 8
Solution : Colubion :

X1 6" 1 'e-1_n| ,||(,\u _u,.-q\-‘l-m
Y1 4% w-2-SgY 1-2-5-8Y4 %o

g‘l = 5,-51 x4 53-3

X422 = = 348

Y= 3'-"’2‘,-'@ 3__3:“ )
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Solubion :

X83-—22I ou\

v b -16-8 -to 12 4
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y=2(8)-12
g = " -12

y- 21-.("-‘3’- 28412 40% .8
e

u"l.-"'?'
y - u-(—n) y_ﬁ?—!ﬂ
,tq

Ml:
.10-(3) 18-3 193,3

-y
Yemce. Co'-l-om s.d'yh -is'l}J"lS




Jagag gt { . {5 U0 [ S 5 (0 1 5 0 O 5 O O I
| | d L
E
: i
L]
i
: =
: t
1
- 1
= [
8 -
t
i -
'3 | ]
1 ] :
.|
X f
- -
- . = | ’
*. - = ﬂ
—— —H—+—+ -
T .IMI - -
!
- “
~ it
i1l i
= i - T
# ! T .
1 Pt
- i _I
oS g ! =
i - H
Tt M 11
il : ™
: { : -] Y
d. 5 B bt | il
b i 1 T - 1
1 1 1 Tt +
1 1Y i | & .* 4
i 1 ! 1 - T T
Pl R . £ %8O ] i L I E B
1 1 ! i 1 e 2 | !
i i ] ! i 1
LW 100 0 A 8 1 TEE 4 NEE idl I :
L1 1 1 EEEERAN 1 1
3 ¥ LY 1 1 1 11 i
! ! ] auE i = ]
TEER N I 1
JJ.r.._ i 4 ] WEDE § _ »
- s B ad = R i Ll s i
m - M 1 | g ma 1 ! i B S
i Y 0 L | 1 I Y 1 i 1411 i T




i 3 ""2 =l3 - 2
- lak = Rl

x 012 3'us 6 x 0123456
Y-'3-5|4 l lzliy'g-:.;. %%‘l_lji
3:- sl’s 3;:'3__“-”__ \,
3~ '3-1 !
y=3 @









